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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-*) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

MNumber of Candidates Interviewed By
Day

PNEB BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § 9wer ¥ ofver 95 o i o Reel § ufe yRdg 391 gr ) 70 g § b
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What is the ratio of the number of candidates interviewed by SBI on Friday and Saturday together to that of candidates
interviewed by BOI on the same two days?

1.35:38
2.35:36
3.39:40
4. 45:46

(1)
(2)
(3)
(4)

A W N =
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1.35:38
2.35:36
3.39:40
4. 45:46
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(2)
(3)
(4)
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1[Option ID=43701] Question Description : dwbv_pg_gp36_eng_2_q1l
2[Option ID=43702]
3[Option ID=43703]
4[Option ID=43704]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
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HITadR 42 - 28 56 50
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o
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The number of candidates interviewed by IDBI on Wednesday is __ 9% of the total number of candidates interviewed by all
the Banks on the same day.

1. 26.65
2.23.47
3.28.47
4. 2435

1) 1




) 2
3) 3
(4) 4

FUAR DI M1 31 &1 T3 R [l T e R & 2nfaa snafifal &1 Sen 34 faq ot §a1 gr ol 18 wener & wfia
1ol B Ho YA @1 o UiaRd (%) 57

1. 26.65%
2.23.47%
3.2847%
4.24.35%

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43705] Question Description : dwbv_pg_gp36_eng_2_q2
2[Option ID=43706]
3[Option ID=43707]
4[Option ID=43708]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

What is the number of candidates interviewed by all the Banks on Tuesday?

1.202
2.216
3. 208
4. 214

1 1
) 2




3) 3
(4) 4

TiaaR & 94t d&! gR1 o T "igTeR J wnfia snafifal fe e feaHt 82

1. 202
2.216
3. 208
4. 214

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43709] Question Description : dwbv_pg_gp36_eng_2_q3
2[Option ID=43710]

3[Option ID=43711]
4[Option ID=43712]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

Approximately, by what percent the number of candidates interviewed by SBI on Thursday increased with respect to that
interviewed on previous day?

1.80 %
2.96 %
3.88 %
4.92 %

(1) 1




) 2
3) 3
(4) 4

TY & 3 gR1T%AR 3 [l T gaT@R & 2niha srafifal @1 Yen 39 ud faa | ol T e R J wnfhd eiafifal &
T B SHUETT T Sha- Wia=id 96 157

1. 80%
2. 96%
3.88%
4.92%

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43713] Question Description : dwbv_pg_gp36_eng_2_q4
2[Option ID=43714]
3[Option ID=43715]
4[Option ID=43716]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

What is the average of the total number of candidates interviewed by BOB and BOI from Monday to Friday?

1. 166
2.178
3. 184
4,218

1 1
) 2




3) 3
(4) 4

AR ¥ AR ad &l S ol 3R &1 3l 3015 gRT o T4 WaTah R | iHe sr=aial & ool YeH &1 SH4d fba- g7

1. 166
2.178
3. 184
4.218

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43717] Question Description : dwbv_pg_gp36_eng_2_q5
2[Option ID=43718]

3[Option ID=43719]
4[Option ID=43720]

Sl. No.6
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Which channel of swayamprabha deals with social science-1 (Social and bevavioural sciences)?

1. PRABODH - Channel 03
2. VAGEESH - Channel 01

3. KAUTILYA - Channel 07

4, SANSKRITI - Channel - 02

1) 1

() 2

3) 3

4) 4

WY BT DH I o°d QoD fagH-1 (@Hifols Td ddeRr-aem) § 9afdd &7
1. &Y - 99d 03
2. gpftEr - <=4 01
3. Bifeed - I9d 07

4. %ol - T d 02

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43721] Question Description : dwbv_pg_gp36_eng_2_q6
2[Option ID=43722]

3[Option ID=43723]
4[Option ID=43724]
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Which of the following are the factors that affect learning?
A. Mental health

B. Attention

C. Gender

D. Readiness

E. Fatigue

Choose the correct answer from the options given below:

1.B, C and E only

2. A, B, DandE only
3.Cand E only

4. A Cand D only

(1)
(2)
(3)
(4)

A W N R

frefafed 9 9 d oRe &1 9 ¢ & 3™ @ uHiad o &7
A, AFTES W
B. @
ANTEED
D. el
E. UHH
i<l feu e fadeal & 9 W6l SR 9 -
1.®Haq B, C AR E
2.%ad A B, D ARE

3. HAACIHRE
4. HAdA A, C3RD

1)
(2)
(3)
(4)

A W N R

1[Option ID=43725] Question Description : dwbv_pg_gp36_eng_2_q7
2[Option ID=43726]
3[Option ID=43727]
4[Option ID=43728]

Sl. No.8
QBID:36201008




Which of the following are the examples of Learning Management System (LMS)?
A. Schoology

B. Edmedo

C. Canvas

D. Bookcreator

E. LearnDash

Choose the correct answer from the options given below:

1.B, D and E only
2. A and Conly
3.A B, Cand E only
4.B, Cand D only

(1)
(2)
(3)
(4)

A W N R

T UaeH UOTEl (U UH UY) & 3aTel FEaad 4 & 4 82
A. TP
B. SIS
C. h-ad
D. g% fhuex
ALEER
i<l feu e fadeal & 9 W6l SR 9 -
1.Hac B, D 3R E
2.Bad A 3R C

3. BAAA, B, C AR E
4. ®ddB, C3ARD

1)
(2)
(3)
(4)

A W N R

1[Option ID=43729] Question Description : dwbv_pg_gp36_eng_2_q8
2[Option ID=43730]
3[Option ID=43731]
4[Option ID=43732]

Sl. No.9
QBID:36201009

Students watch and listen to the videos of a lecture before coming to the class. It is an example of
1. Lecture Method
2. Flipped Classroom

3. Programmed learning
4. Project Method

1) 1




2) 2
3) 3
(4) 4

T H o T ud el aran= & difedt SEd 3R d £ 98 frgat Jareeu a7

1. oRAM fafd

2. Jaid] Séfl (Thits deieEH)
3. BAHHEG T

4. Uiy fafd

1)
(2)
(3)
(4)

A W N R

1[Option ID=43733] Question Description : dwbv_pg_gp36_eng_2_q9
2[Option ID=43734]
3[Option ID=43735]
4[Option ID=43736]

Sl. No.10
QBID:36201010

Which of the following method is based on learning-central approach of Education?

1. Lecturing - Demonstration
2. Activity based scaffolding
3. Joyful Method

4. Inductive Method

(1)
(2)
(3)
(4)

A W N R

frfeiad A 9 o1 9 usfd Rien & sftrm-sisd SurE | anuiid g2

1. e -FeEElA

2. TIffafy snenfid urs (FBwica)
3. HFCeE® Ugfd

4. HNTHATHS Ugid

1)
(2)
(3)
(4)

A W N =

1[Option ID=43737] Question Description : dwbv_pg_gp36_eng_2_q10
2[Option ID=43738]
3[Option ID=43739]
4[Option ID=43740]

Sl. No.11

QBID:36201011

In quantitative research, providing a basis for more precise estimation of the degree of relationship among or betweeen
concepts is the function of

1. Surveying
2. Reviewing
3. Measurement
4. Sampling

(1) 1




2) 2
3) 3
(4) 4

AETH® Y § @RS & 91 3 ard Gatf @1 361 & e g STaH & 08 U SUR UGH BT Hgiead 3 |
U td vard 57

1. G0 BT

2. IRIGdIH BT
3. |10

4. Ufcag-

1)
(2)
(3)
(4)

A W N R

1[Option ID=43741] Question Description : dwbv_pg_gp36_eng_2_q1l11
2[Option ID=43742]
3[Option ID=43743]
4[Option ID=43744]

Sl. No.12
QBID:36201012

A major limitation of the postal questionnaire survey is

1. Need for supplementary questions
2. Availability of extra data

3. Need for a covering letter

4. Higher rate of non-response

(1)
(2)
(3)
(4)

A W N R

ST -IHTac Ha&l S T FHE HiHl- R & g

1. AP UYT BT HT=TGHl

2. 3faead &d (S21) [ Iuder

3. U8-TF (P dex) B a=gdd
4. YT DI I &

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43745] Question Description : dwbv_pg_gp36_eng_2_ql12
2[Option ID=43746]
3[Option ID=43747]
4[Option ID=43748]

Sl. No.13
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The photo-elicitation technique is used in

1. Experimental research
2. Visual ethnography

3. Applied research

4. Content analysis

(1) 1
(2) 2
3) 3
(4) 4

Fafdiad # 9 feed faa-3awiiia ddb-iie ol Wad [l wIdl 87

1. FARTIES 2y

2. =Y elia-quiF

3. VgEd Y

4. Tqumas &1 fqzeimo

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43749] Question Description : dwbv_pg_gp36_eng_2_q13
2[Option ID=43750]

3[Option ID=43751]
4[Option ID=43752]

Sl. No.14
QBID:36201014

Which of the following are advantages of quantitative interviewing over participant observation?
A. Wider range of issues can be discussed.

B. Events can be re-constructed.

C. Ethical aspects of research can be adhered to.

D. Name-calling is permitted.

E. Outsiders can be allowed to interrupt the process.

Choose the correct answer from the options given below:

1. A B and Conly
2.B,Cand D only
3. C, Dand E only
4. A D and E only

(1) 1
(2) 2
(3) 3
(4) 4




o

UiaHTTT U801 @1 gai-1 H (Ui ® HISThR ®H3- o ([HEfead 5 § DI a4 g7
A 5 & A0S WY & 991 &1 o Gdal 8l
B. T3l Bl G=: TRfard foban o U 51
C. TMe & GRS uall &1 SFureH a1 o 9adl o
D. HUTIeG Be- (H-DIeT) DI A ST &1l |
E. STe<) cafaaal ®f 39 URedT & §1d J aia- @1 ST & of 9 g
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B, C
2. %490 B, C, D

2. ®aAC, D, E
4. BFAA, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43753] Question Description : dwbv_pg_gp36_eng_2_q14
2[Option ID=43754]

3[Option ID=43755]
4[Option ID=43756]

Sl. No.15
QBID:36201015

Given below are two statements:
Statement I: Coding is an important process in grounded theory in which data are classified into well- defined categories.

Statement II: The researcher's interpretations decide his or her emergent codes in grounded theory, and different types of
coding are identified.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




BERAGE AR
DY - | : Bas B AUIRD [gid 3 U Aeayl Uieal g, [ormH g (827 & uRHItd &1 § atiiea fear S & |

T - 11 : el D1 AR AR Rigia o 3u I Te 3 FuiRa $3d1 § AR Teas oA & NE USRI B JgdH @
EIGIE

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B

3. @Y 1 qd e, g @y 1 TTad & |
4. | 3T T, g o 1 T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=43757] Question Description : dwbv_pg_gp36_eng_2_q15
2[Option ID=43758]
3[Option ID=43759]
4[Option ID=43760]

Sl. No.16
QBID:36201016

In an implicit business agreement, communication is

1. Ambiguous
2. Fragmented
3. Contrived
4. Extensive

1)
(2)
(3)
(4)

% Ho0dd AaaId GHd § N0 341 6idT 67

1. SHF
2. dfgd
3. HaSd (HeIFe8)
4. faxgd

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43761] Question Description : dwbv_pg_gp36_eng_2_q16
2[Option ID=43762]
3[Option ID=43763]
4[Option ID=43764]

Sl. No.17
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In organisational systems, orgnisational communication supplies

1. Attitudinal inputs

2. Political inputs

3. Social inputs

4. Entertainment inputs

1) 1
(2) 2
3) 3
(4) 4

s wonferal § 9T SaIev [Ggd! H1gfd sl 82

1. ST TG FA9e)
2. ASHITd® AT

3. gD AT

4. GRS 3TTd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43765] Question Description : dwbv_pg_gp36_eng_2_q17
2[Option ID=43766]

3[Option ID=43767]
4[Option ID=43768]

Sl. No.18
QBID:36201018

Which one of the following is a communication barrier?

1. Communicatee attention
2. Semantic distortion

3. Amplified image

4. Infographic

1) 1
(2) 2
3) 3
(4) 4

Fafataa o € o te Tu-anEn g2

1. GEINURITR! @1 &

2. 37 fgeum

3. yafiid Bfg (wufaess a9

4. e YR | A1 (3B b )

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43769] Question Description : dwbv_pg_gp36_eng_2_q18
2[Option ID=43770]

3[Option ID=43771]
4[Option ID=43772]

Sl. No.19
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Which of the following are objectives in marketing communication?
A. Belittling competitive brands

B. Category need

C. Brand awareness

D. Brand attitude

E. Brand purchase intention

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only

(1)
(2)
(3)
(4)

A W N R

ffeiad 4 9 @19 fauue g2 & 3520 57

A, Ut §isy ©f A< 1 S

B. 401 BI SfTa=G bl

C. 58 & 9R H SNE®dl

D. 1S &I SHfHgR

E. §8 & %Y &1 3304l

i<l feu e fadeal & 9 W6l SR 9 -
1.HAUA, B, C, D
2.%dt B, C D, E

3. ®BadAA, C, D, E
4. ®ddA, B, D, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=43773] Question Description : dwbv_pg_gp36_eng_2_q19
2[Option ID=43774]
3[Option ID=43775]
4[Option ID=43776]

Sl. No.20
QBID:36201020




Given below are two statements:

Statement I: When messages are delivered by popular sources, they have higher attention and recall of the receivers.
Statement II: A highly credible source may not score much in the areas of expertise, trustworthiness and likability
In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R

EIECAE AR
HY - | T8 DY Tl gRI Ha¥ WaH U Id § T 370! Aadbdisf ¥ J=or &M R ¥R W gidl 5 |
DY - 1| : Ul AN fag-ig I faRivgd, [aya-iadr-ai Sk gbert & &30 5 e @R uId 8! 1 & gdbdil
IWE DUl & e F Fafaied feeedl § 9 98l s g -

1. ®YF | 3R 11 EF 98T 8

2. BYA 1 3R 11 G Ted & |

3. %Y | Tl g, g Py 11 TTad § |
4. @ T T, g I I TR B

1)
(2)
(3)
(4)

A W N R

1[Option ID=43777] Question Description : dwbv_pg_gp36_eng_2_q20
2[Option ID=43778]
3[Option ID=43779]
4[Option ID=43780]

Sl. No.21
QBID:36201021

The ages of two sisters A and B are in the ratio of 7:6. After 12 years, the ratio of their ages will be 9:8. Find the difference
between their ages.

1.5 years
2.4 years
3.6 years
4.8 years

(1)
(2)
(3)
(4)

A W N R




A R B Gl dgHl ®1 31 7:6 & S-IUIA H &1 12 T4 UHTd SAD! 31 BI Ul 9:8 BIII SADI Y & HH 3aR Jd DIlag?

1.539
2.494
3.694
4.89%

1)
(2)
(3)
(4)

A W N R

1[Option ID=43781] Question Description : dwbv_pg_gp36_eng_2_q21
2[Option ID=43782]
3[Option ID=43783]
4[Option ID=43784]

Sl. No.22
QBID:36201022

In a certain code language:

A) "It is dark outside’ is coded as: 'la sa ka tu'

B) ‘It is still raining’ is coded as: 'sa la sira’

C) 'Raining heavily outside’ is coded as: 'ra ha tu’

How 'dark’ and 'heavily’, respectively, are coded in that language?
Ctut &si
Jlat & tha'

1
2
3.'sa" & 'ra’
4. 'ka' & 'ha’

1)
(2)
(3)
(4)

A W N R

ie farddt e v H:

A. 3¢ 39 S HIGCHZS' DI TN °l B g & €U H Beds 1od1 T g

B. 3¢ 31 eq ST &1 I a1 W I & €U H Heas [odl ™

c. I efadl oMSeuREs &l VBT & €U H Beas (odl ™ o

il It HIWT H R S 3R Biadd 3 fbu T ¥ e fear S
1. SR
2.1 3R =T

3, 9T S
4. @I 3R 7T

1)
(2)
(3)
(4)

A W N R

1[Option ID=43785] Question Description : dwbv_pg_gp36_eng_2_q22
2[Option ID=43786]
3[Option ID=43787]
4[Option ID=43788]




Sl. No.23
QBID:36201023

What number can replace question mark (?) in the series given below?
1,4,7,13,22 37,61,100,7

1.163
2.161
3.171
4.173

1)
(2)
(3)
(4)

A W N R

I 21 718 JRgar H 1 O Y@= Uy a9 (7) ®f wiawiitd &3 2
1,4,7,13,22,37,61,100,?

1.163
2,161
3.171
4.173

1)
(2)
(3)
(4)

A W N R

1[Option ID=43789] Question Description : dwbv_pg_gp36_eng_2_q23
2[Option ID=43790]
3[Option ID=43791]
4[Option ID=43792]

Sl. No.24
QBID:36201024

A sum of money deposited in a bank at a simple interest per annum becomes T 5200 in 5 years and 5680 in 7 years. Find
the rate of interest per annum.

1.6.5%
2. 6%
3.5%
4.5.5%

(1)
(2)
(3)
(4)

A W N R

fe Tl s H SR D1 T3 pal Y-RIRT Ui 99 IR &A1 o SATYR U 5 a1 H T 5200 941 7 991 H T 5680 81 W1l g1 f Widay
o7 X J1d Do

1.68.5%
2. 6%
3.5%
4.5.5%

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=43793] Question Description : dwbv_pg_gp36_eng_2_q24
2[Option ID=43794]

3[Option ID=43795]
4[Option ID=43796]

Sl. No.25
QBID:36201025

The ratio between Sale price (S.P.) and Cost price (C.P.) of an article is 5:3. Find the ratio between profit and the cost price of
that article.

1.2:3
2.4:5
3.2:5
4. 5:2

1) 1
(2) 2
(3) 3
(4) 4

ic; Tt 9% & fdshd Hed (S.P.) Ud TNTd Hd (C.P.) & A U 5:3 51 Tl 39 9% & oy Ud TFTd Hed & HE 3UTd [
DIl

1.2:3
2.4:5
3.2:5
4.5:2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43797] Question Description : dwbv_pg_gp36_eng_2_q25
2[Option ID=43798]

3[Option ID=43799]
4[Option ID=43800]

Sl. No.26
QBID:36201026

Which informal fallacy is committed in the following statement - "Famous singer Mr. Shantanu says ABC toothpaste boosts
our immunity, therefore we must buy ABC toothpaste™?

1. Appeal to Ignorance

2. Red Herring

3. Strawman

4. Appeal to Inappropriate authority

(1) 1
) 2
(3) 3
(4) 4




Fafeied oy & &F 91 3F@RS ad Y & - UG Tad o 2iar] + wel fis v & dader g9t ufakeT o 9e §,
Fafen g4 U o <aHeH @l afeul 7

1. WRFHAS gfad
2.¥s 8l

3. T (919 &1 o)
4. UG UIUSR 3G

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43801] Question Description : dwbv_pg_gp36_eng_2_q26
2[Option ID=43802]

3[Option ID=43803]
4[Option ID=43804]

Sl. No.27
QBID:36201027

Which of the following statements are contrary to each other as per traditional square of opposition?
A. All plants are oxygen producers.

B. Some plants are oxygen producers.

C. Some plants are not oxygen producers.

D. No plants are oxygen producers.

Choose the correct answer from the options given below:

1.B and C only
2. A and D only
3.Aand Conly
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4

URAR® &Ry & & SuR FEffed § ¥ ®H ¥ $YF RER fawld 82
A T UTGY 3fRioH Sae® Bid &

B. ©S UIGY SHTRfioH JdG® aid gl

C. PS UIGT HRioH IAGH T8l 8l o
D. &3 f UTgU HieoH IdG® el el &l
e fen e fowel 4 O W8l SR A -
1.®adB 3R C
2. 59 A HR D

3. HIAA IR C
4.%ad B 3R D

(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=43805] Question Description : dwbv_pg_gp36_eng_2_q27
2[Option ID=43806]
3[Option ID=43807]
4[Option ID=43808]

Sl. No.28
QBID:36201028

Which of the following statements are logically equivalent?
A. No lions are herbivorous animals.

B. No herbivorous animals are lions.

C. All lions are non-herbivorous animals.

D. All non-herbivorous animals are non-lions.

Choose the correct answer from the options given below:

1.B, Cand D only
2.Cand D only
3.B and D only
4. A, B and C only

(1) 1
(2) 2
3) 3
(4) 4

FufiRad & 9 ®F 4 $uF difde ©U U Tadd 62
A. ®ig Hl IR BRI ug 6l 8idl 81
B. BT ft IHTERT U IR TE g 3
C. 9l IR IR-ASRERI U Eid g
D. Tff TR-THRH U3] R-I B T
d feu U fadhedl H 4 98l 3w 94 -
1. $dd B, C AR D
2. BaAC AR D
3. WA B3R D
4. BAdAA B AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43809] Question Description : dwbv_pg_gp36_eng_2_q28
2[Option ID=43810]

3[Option ID=43811]
4[Option ID=43812]

Sl. No.29
QBID:36201029




If the statement -"No lions are herbivorous animals” is given as true, then which of the following statements can be
immediately inferred to be true?

1. Some lions are not carnivorous animals.
2. All lions are herbivorous animals.

3. Some lions are herbivorous animals.

4, Some lions are not herbivorous animals.

1) 1
(2) 2
3) 3
(4) 4

U B - B 1 I ADHTER U el 51l & ¥l S ©u # fear man 8, & Fafafad d @ o9 9 ouF diois €0 4 90
& & H 1A foar < gl 82

1. D% I HGER U 42l 2ld &

2. 93! TR SRR U Ed & |

3. % IR PR UY Bld 5|

4. D% IR AIHERI U el gid &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43813] Question Description : dwbv_pg_gp36_eng_2_q29
2[Option ID=43814]

3[Option ID=43815]
4[Option ID=43816]

Sl. No.30
QBID:36201030

In which type of following inference the middle term is both positively and negatively related to the major term as per
Classical Indian School of Logic?

1. Kevalvyatireki
2. Kevalanvayi

3. Anvayavyatireki
4. Satpratipaksa

OR!
(2) 2
3) 3
(4) 4

YR TR T 7l o SJHR FEfaRad H 9 fod $FAH H 39 Ug 96RIEAS Ud ADRIHS gHI YoR d JAUE H daidd
87

1. AT D]
2. paarad!
3. Hggeafad!
4. gaufagaf

1 1
) 2
3) 3




(4) 4

1[Option ID=43817] Question Description : dwbv_pg_gp36_eng_2_q30
2[Option ID=43818]
3[Option ID=43819]
4[Option ID=43820]

Sl. No.31
QBID:36201031

Consider the following Snapshot of MS-EXCEL worksheet:

A B C D
1 |Roll Number Test Marks-1 Test Marks-2 Total marks
2 201 80 60 140
3 202 70 50 120
4 203 40 30 70
5 204 30 32 62
6 |205 85 85 170
7 206 65 80 145
8 207 72 96 168
9 |208 25 32 57
10 |209 90 78 168
11 1210 25 40 65
12

The formula =SUMIF(B2:B11,"<50", D2:D11) in cell D12 will result in __.

1.120
2. 254
3.90

4. 244

1) 1
(2) 2
3) 3
(4) 4




UH UH-URd SAUES & HEikiRdd HEE R TR SN

A B C D
1 |IHHIS |HIET-3F-1 [TE1-3id-2 [ 3id
2| 201 80 60 140
3| 202 70 50 120
4| 203 40 30 70
5| 204 30 32 62
6| 205 85 85 170
7| 206 65 80 145
8| 207 72 96 168
9| 208 25 32 57
10| 209 90 78 168
1] 210 25 40 65
12

cl D12 H A = SUMIF(B2:B11,"<50",D2:D11) I UIRUITH BT

1.120
2.254
3.90

4. 244

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43821] Question Description : dwbv_pg_gp36_eng_2_q31
2[Option ID=43822]

3[Option ID=43823]
4[Option ID=43824]

Sl. No.32
QBID:36201032

Given below are two statements:

Statement |: Chatbot is an example of Digital Intelligence.

Statement |l: Amazon's ‘Alexa’ and Apple's 'Siri* are examples of Artificial Intelligence.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




@ - | : dedle, fafada gfgn @=die-g) &1 t& 3eE &
TUA - 1| : AW BT TAEET R T0d &1 YR $HH GG & Saev gl
I PYHl B el H FEfaRed el H 9 gl 3w 9 -

1.9 | 3R 11 SHI T &

2. @ 1 R 11 EF1 TTad 8|

3.9 1 qel 8, g @Y 1 Tad B |
4. T TTAd E , g YA 1 T8 B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43825]
2[Option ID=43826]

3[Option ID=43827]
4[Option ID=43828]

Question Description : dwbv_pg_gp36_eng_2_q32

Sl. No.33
QBID:36201033

Which of the following are the advantages of Dynamic RAMs (DRAM) over Static RAMs (SRAM)?

A. They are much less expensive to manufacture than SRAM.

B. They consume less power than SRAM.

C. They have a higher storage capacity than SRAM.

D. They are much faster than SRAM when it comes to data access.

Choose the correct answer from the options given below:

1. A, B and Conly

2. A and Conly
3.B and C only
4. A and B only

1) 1
(2) 2
3) 3
(4) 4




WIfI® T (SRAM) BT 3HU&f fdd 39 (DRAM) & a1y FofdRaa d S @ 9 82
A. e 1 3T qa1 8 3701 fafHior 9gd oH @diar sl 81
B. T RIfd Y0 B U BH FHoll Bl SUHT & &
c. 37 Sfad X0 Bt oUeT 3= HSRU &Hd sl g |
D. U BIeT (™) TRy & o H Wide WY dsgd dd eld g
< U e st & ¥ g8l IR g4 -
1. Had A, B AR C
2.%ad A R C
3. Haa B AR C
4. HIAA AR B

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=43829] Question Description : dwbv_pg_gp36_eng_2_q33
2[Option ID=43830]

3[Option ID=43831]
4[Option ID=43832]

Sl. No.34
QBID:36201034

In Computer Networking, which type of wired transmission medium has a core of refined glass?

1. Optic fibre

2. Coaxial cable

3. Shielded twisted pair

4. Unshielded twisted pair

(1) 1
(2) 2
(3) 3
(4) 4

DR Hedld H, Fafaiad H ¥ foy dRged YUu0 HIEH & UER H UREd bid & $1S sidl o7

1. AP B

2. gHmE T

3. UIRETd oamdfeid 9o
4. SURRIEG HEfdd g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43833] Question Description : dwbv_pg_gp36_eng_2_q34
2[Option ID=43834]

3[Option ID=43835]
4[Option ID=43836]

Sl. No.35
QBID:36201035




Two binary numbers are added as given below:

0 b 01
c 1 1 a
1 0 d 1

Then (a, b, c dy=__ .

1.(0,0,1, 1)
2.(0,1,0, 1)
3.(1,0,0,1)
4.(1,0,1,0)
(1) 1
() 2
(3) 3
(4) 4

% &l Fanurl 9= (9 UeR 9 Sl 9 &:

1[Option ID=43837] Question Description : dwbv_pg_gp36_eng_2_q35
2[Option ID=43838]
3[Option ID=43839]
4[Option ID=43840]

Sl. No.36
QBID:36201036

Given below are two statements:
Statement |: Wind energy has high energy density.
Statement II: Wind energy is an intermittant source of energy.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
(4) 4




EIEEALAE N AR

T - 1: 93 HeAl § 3 Sl 9 el o

BY - 11 : Foll Bl TP HRIGD TId g el sidl 5
Swdd DUl & 1cilies H Fafaiad el § 4 w8l s g -

1. @Y | 3R 11 SH 9el 2
2. %Y | AR 11 ST A &
2. YT B 8, g Y 11 T © |
4. @ TAd ¢, g Y 1 T8I B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43841] Question Description : dwbv_pg_gp36_eng_2_q36
2[Option ID=43842]
3[Option ID=43843]
4[Option ID=43844]

Sl. No.37
QBID:36201037

Ozone layer is in

1. Thermosphere
2. Mesosphere
3. Stratosphere
4. Troposphere

1)
(2)
(3)
(4)

A d Fgfafaa 4 9 feod el 82
1. STE AgHSA (YR ER)
2. 9Hsd

3. gHAHSd
4. giydsda

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43845] Question Description : dwbv_pg_gp36_eng_2_q37
2[Option ID=43846]
3[Option ID=43847]
4[Option ID=43848]

Sl. No.38
QBID:36201038




Given below are two statements:
Statement |: Millennium Development Goals (MDGs) were set to be achieved by 2030.
Statement |I: Sustainable Development Goals (SDGs) were set to be achieved by 2015.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

EIERAAIE A
DY - | : T dle: G deaf (@8 21 o) &I a4 2030 I6 U B B A& @1 797 41|
FHY - 11 : GyRofig GHra asaf @y St o) @i adf 2015 9@ U $ & T6d @1 747 o7
Iudad Bl B 3o | Faftiad el J 9 58l W g -

1. Y | 3R 11 &FT T8

2. BYA 1 3R 11 GFI T g |

3. 1 el g, fog Py 1 Tad § |
4. @ T T, g I I TR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43849] Question Description : dwbv_pg_gp36_eng_2_q38
2[Option ID=43850]

3[Option ID=43851]
4[Option ID=43852]

Sl. No.39
QBID:36201039

Official languages for International Solar Alliance are

A, Hindi

B. English

C. French

D. Spanish

E. Chinese

Choose the correct answer from the options given below:

1. A B and Conly
2.B,D and Eonly
3.B,Cand D only
4.B, C and E only




(1) 1
(2) 2
(3) 3
(4) 4

SIRIPTY TR Y & 78 I HE &

A fel

B. 3%sit

C. i

D. &

E. T

i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B 3R C
2.%qqB, D3R E

3. ®ad B, C AR D
4. %Had B, C ARE

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43853] Question Description : dwbv_pg_gp36_eng_2_q39
2[Option ID=43854]

3[Option ID=43855]
4[Option ID=43856]

Sl. No.40
QBID:36201040

Match List | with List 11

List | (Medium) |List Il (Disease)

A, Water borne  |Il. Trachoma
B. Water washed |Il. Malaria
C. Water based  |lll. Cholera

D. Water related |IV. Schistosomiasis

Choose the correct answer from the options given below:

TA-ILB-LC-1,D-1V
2ZA-NILB-1L,C-IV,D-1
A-LE-ILC-N,D-1V
4A-LB-IV.C-III,D-1

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

W -1 @) ESURICUD)

A Ad-ofd |, SHET

B. Sia-uTfad |1, FaRa

C. -3 111, gl

D. wid-Hat . ey
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IL,B-1,C-1l, D-1IV
2ZA-NLB-1L,C-IV, D-1
3.A-LEB-ILC-1, D-IV
4A-LB-IV.C-1ll, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=43857] Question Description : dwbv_pg_gp36_eng_2_q40
2[Option ID=43858]
3[Option ID=43859]
4[Option ID=43860]

Sl. No.41
QBID:36201041

Which among the following is based on passive learning, where the child listens to teachers and follows directions from
them?

1. Cooperative learning

2. Conventional learning

3. Non-conventional learning
4. Play way learning

(1)
(2)
(3)
(4)

Frafaiad # € @ Pfspy it W enuiid 8, e s=1 gl ®f g1 § 391 3 gRI &2 18 FEl &1 $ur el
87

1. DRI AH
2. URUR® ATy
3. IR-URURS A
4. 181 Ugld e

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=43861] Question Description : dwbv_pg_gp36_eng_2_q41
2[Option ID=43862]
3[Option ID=43863]
4[Option ID=43864]

Sl. No.42
QBID:36201042




Given below are two statements:
Statement I: It is said that in the early Vedic period, women had equal rights to get any type of education.

Statement II: In the last phase of Vedic period, as there were no separate gurukuls for girls of the age 12 years and above,
they could not receive higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

EICEAEAIE AT
@Y - | : U8 HFT I1dT ¢ b Ud dic® o H Afgars! @ [adl 1 UeR 31 R8T und &3+ & TuH HER 41

@Y - 11 : dicd DI & SifaH IR H 981 IR 12 94 Ud S8 SR dI 3 B dliciorsd gg dlg el [oHd ol ¥, 3HIU d
I &)1 Ure 81 R G|

SUddd Byl & Heis § FafaRed et § 9 98l w9 -
1. @Y | 3R 11 gHI T €
2. @Y | AR 11 G TEd & |
3. @YU HEl e, g @Y 11 TTEd & |
4. Y| Tad &, fog B 1 98T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43865] Question Description : dwbv_pg_gp36_eng_2_q42
2[Option ID=43866]

3[Option ID=43867]
4[Option ID=43868]

Sl. No.43
QBID:36201043

Given below are two statements:

Statement |: The Indian universities to reach global standards need sustained support for programmes in research and
development.

Statement II: The ‘knowledge economy’, as envisaged by the Knowledge Commission, does not need government
involvement in higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1




2) 2
3) 3
(4) 4

EICRAREIC A =

DY - | : D HHDI DI U DA 5 HRAIY faxfaeradl &f S8 AR fday Uet Sl & oy Jad gad= i
HIIGDHdl & |

@Y - 11 : TH AR gRI Bicdd TH- AT & &7 H I@-T1401 H SR HHST 1 SAaeddhdl 1ol o
Iuad HYH & H1ele | Fofied e 3 3 9 S| -

1. @Y | SR 11 GF Tel 8l

2. @Y | SR 11 Gl TTad 8

3. @Y1 el g, fog @Y 11 Tad & |
4. YA | a8, fobeg B 11 HET B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43869] Question Description : dwbv_pg_gp36_eng_2_q43
2[Option ID=43870]
3[Option ID=43871]
4[Option ID=43872]

Sl. No.44
QBID:36201044

The recommendation that no student should be allowed to specialise in teaching a subject unless he had it in BA/B.Sc was
made by

1. The Yashpal committee

2. The Knowledge Commission

3. The Education commission (1964-66)
4. The N.R. Sarkar committee

1)
(2)
(3)
(4)

A W N R

Tg R Fgifed 5 U feae g1 of 1 0 (64l ol U 85 & 99 9o & 39 ag o9 9w J &y o g9 O 7 feargl, 39
IO faftiy e &1 srafa 98 § o 2

1. JRUTS FiEfd

2. 9 R

3. TRT&IT TFT (1964-66)
4. T.3R. WHR Al

1)
(2)
(3)
(4)

A W N =

1[Option ID=43873] Question Description : dwbv_pg_gp36_eng_2_q44
2[Option ID=43874]
3[Option ID=43875]
4[Option ID=43876]

Sl. No.45
QBID:36201045




In its formative years, which university had taken to the strategy of adopting multi-media instructions through Gyan Vani
and Gyan Darshan?

1. Karnataka State Open university

2. Indira Gandhi National Open university
3. Dr. B.R. Ambedkar open university

4. Yashwant Rao Chavan open university

1)
(2)
(3)
(4)

A W N R

HUH RS TGP D THY FTH) H Haiied SH-U fayfaeneg 3 FHari 3R 4 T34 & 71 § Heel-Hisar gl
DI HUATE S B BRI SHGART o 2

1. PAleH ¥ qad faufaenay

2. gie TITel ¥y Hed fuideney

3. SlaeY 913K, sfEso: ad [gyfaame™
4. GREANId Fodl o fayfaemea

1)
(2)
(3)
(4)

A W N R

1[Option ID=43877] Question Description : dwbv_pg_gp36_eng_2_q45
2[Option ID=43878]
3[Option ID=43879]
4[Option ID=43880]

Sl. No.46
QBID:36201046




Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

FrafafEa e 1 ufde 7 wst F S S

9 5@ ¥ o e T ¥ 99e 0 g 9 IR & U Sl S@d B 3 Afal-Hadd & iaes & 5O B 36 o
AR & A J Giami-ar 3 RUd S39d 3R Biafed (@ 3B Uh) & Myddiel § 39 W™ J U6 11d & UeR &
N B I U YR AIe 30U B & U &l AiD! &1 faey 6 396 Rugex o 39 ulssar & ugad Heil 9 1.5
N 3H¥® Sl I B | Had- Bl Afdd DI WIeH b ol 389 gd & Tyl J, Ruael 3 3aw ol 4 iiE Sl &l SUHA
f&a1 U1l R A1®] @1 Tl & [ Siami-a1 TarTEne § Ry &1 T3 39 Uil &l 98 095 WaaH 8 spfi sa Y &9 &
GHIH I FHY T

quifty et $1 o el srawaddrel 1, Siua.sl.emn. 4R @) 7 9iE U fam, ol vem #37 &1 Ui @1 sga
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3idr QR Sadg Heel U SfaRivia qerESar @l U B & g Tdiewiia Sl @ 3R o @ € 19Ut aaa | afe o
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TR Uy @S B

According to current estimates, power generation accounts for how much of the total GHG emissions on earth?

1. 10-15 percent
2. 25-30 percent
3. 40-45 percent
4. 50-55 percent

1) 1
() 2
3) 3
(4) 4

A MG & HTIR, TH TR Td ol Td o Sodo H [d69d 3cda- & aFeH [dal 87
1. 10-15 Uic=Id
2. 25-30 Uid=d

3. 40-45 Hia2d
4. 50-55 Uir2rd

(1) 1




(2) 2

3) 3

4) 4

1[Option ID=43881] Question Description : dwbv_pg_gp36_eng_2_q46
2[Option ID=43882]

3[Option ID=43883]
4[Option ID=43884]

Sl. No.47
QBID:36201047

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

Frafafas e 71 uide 3 usf & SR S

T &3@ ¥ off ofie T ¥ 9Ffe o @ 9 aR1 & U Sl SWd & 31 afear-dadd & dfaee & 5O a1d 3 o
HIaaR @ AIEI § Slami-ar 8 g 399a 3HEE B @ oM Th) & Mudae) 3 30 0™ 3 T 31d & TR 3
"IN B I U YR S I0d $H & U gl Aid! &1 faey 6 396 Rudgex = 39 ulsar & ugad Heil 9 1.5
N 3 Sl IO B | Gad- Bl Afdd DI WIeH b ol 389 gd & Tyl J, Ruael 3 3aa Hal U Hii® Sl &l SUHA
a1 41| Ue=g dF1H®I B Bl ¢ [t BITBI-E] TR H HRY B T3 39 Uishdl &l 98 UAH WdaH H s sH Y dH ol
SIS Pl THT A

U P! B A Hae azgHarel B, TG, HR (@s) H gis 6T f51, ol Har S 31 Uraiieal &l i
Udd qarl R Tel g1 & (o TAHIZUD DI 58 So1 @il A I<ioH] & oF 4 [ear g

3dr S Sadry Heeh Ul iy qerEsar ol QU B3 & g Tdiewiia S @ 3R o @ €1 quiit aqq | affe o
T St 3ol & 25-30 UiaLd & [0 fagyd Idred IoRarl 81 Tdiduiid Seil @i Sidi-ied SRR Usfd &1 314 & i <l &
To1E STarA-32F Svil Wil B 318 &1 AAHUP Biod ¢l [TEET UEIRI@S! & JarT are URIRS ¥U 9 Idiad Anu@y Sl
HUETHA AT W 81 W wRANaa o 1986 T 3R BRI o 2011 H g3 g3l 7 fads afca T3 & [Wan & ey o
TR uy g fHu gl

Given below are two statements:

Statement I: Energy produced in the sun and the stars is through fission.

Statement II: Energy produced through fission is relatively cleaner as compared to that from fossil fuels.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.




(1) 1
(2) 2
(3) 3
(4) 4

EIEAGIE A
DY - | : T4 F Rl H IF Sl [ddS- & HEH Y gl o
DU - || : f[aEE & J1eH ° 3dd Sl oilard 389 4 U FHdl &I gal H SUEod WS eidl o
I HYAl B TSP H Fieiad [ecdl # 9 Hel Sw 9 -
1. @Y1 3R 1l H Fg1 g
2. WY1 SR 1 GH A g

3. @YU 1 Hel g, fog @Y 11 Tad § |
4. YA | a8, fobeg B 11 HET B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43885] Question Description : dwbv_pg_gp36_eng_2_q47
2[Option ID=43886]

3[Option ID=43887]
4[Option ID=43888]

Sl. No.48
QBID:36201048




Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

FrafufEa e &1 ufde 7 wst F S S

9 5@ ¥ o e T ¥ 99e 0 g 9 IR & U Sl S@d B 3 Afal-Hadd & iaes & 5O B 36 o
AR & A J Biami-ar 3 T S39d 3R Biafed (@ 3B Uh) & Muddiel H 59 W™ J U6 101d & UeR &1
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f&a1 U1l R A1®] @1 Tl & [ Siami-a1 TarTEne § Ry &1 T3 39 Uil &l 98 095 WaaH 8 spfi sa Y &9 &
GHIH I FHY T

quifty et $1 o el srawaddrel 1, Siua.sl.emn. 4R @) 7 9iE U fam, ol vem #37 &1 Ui @1 sga
db TR B2 Tal gl & U TIHTRUE & 38 gal @i - el & o fear g

3idr QX Sy Heel U SfaRifia qerESar ol U B & g Tdiewiia Sl @ 3R o @ €1 quiid aqqH # afe off
U St 3o & 25-30 Uiawd & 70 faggd IareT IwReml 81 Tdidviia $ui @i idi-ied SRR usfd @1 34 & fé <l &
To1E STae-32F Fwl Wil B 318 &1 AP Bio ¢l [FEeT UEIR@S! & TR are URIRS ¥U 9 Idliad Anue Sl
HUETPHT AP Wad ¢ T oxAied | 1986 H 3R B H 2011 H g5 ge-1i 4 fa@ e afca 993! @ qal © day |
TR Uy @S B

Scientists have been trying to produce energy through fusion for

1. The last 20 years
2. The last 40 years
3. The last 50 years
4. More than 90 years

1) 1
() 2
3) 3
(4) 4

It o Fafafad # 9 feaw ouf @ Jaga & A1 T Sl 309 - &1 Ua" 3 I8 o7
1.fam@ 20 a9
2. fadao oy

3. @ soad
4. fF@ o0 T

(1) 1




(2) 2

3) 3

4) 4

1[Option ID=43889] Question Description : dwbv_pg_gp36_eng_2_q48
2[Option ID=43890]

3[Option ID=43891]
4[Option ID=43892]

Sl. No.49
QBID:36201049

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

Frafafas e 71 uide 3 usf & SR S

T 3@ ¥ off ofi® T ¥ 99e 0 @ 9 aR1 & U Sl IWd B 3 afea-dadd & iaee & 5O ad 3 o
HaR & ARSI § Slawi-ar 8 g 999a 3HEE B @@ oM Th) & Mudae) 3 39 0™ 3 T 31d & R 3
"IN B I U YR S I0d $H & U gl Aid! &1 faey 6 396 Rudgex = 39 ulsar & ugad Heil 9 1.5
N 3 Sl IO B | Gad- Bl Afdd DI WIeH b ol 389 gd & Tyl J, Ruael 3 3aa Hal U Hii® Sl &l SUHA
a1 41| Ue=g dF1H®I B Bl ¢ [t BITBI-E] TR H HRY B T3 39 Uishdl &l 98 UAH WdaH H s sH Y dH ol
SIS Pl THT A

U P! B A Hae azgHarel B, TG, HR (@s) H gis 6T f51, ol Har S 31 Uraiieal &l i
Udd qarl R Tel g1 & (o TAHIZUD DI 58 So1 @il A I<ioH] & oF 4 [ear g

3dh QX Siadry Heelh U Sfaifia qerEsar ol U o3 & g Tdiewiia S @ 3R o @ § 19Ut adH | ae o
U St 3o & 25-30 Uia2d & [0 fagyd Iadred IwRarl 81 Tdieuiid $eil @i idi-ied AR Usfd &1 34 8 i <l &
To1E STarA-32F Svil Wil B 318 &1 AAHUP Biod ¢l [TEET UEIRI@S! & JarT are URIRS ¥U 9 Idiad Anu@y Sl
HUETHA AT W 81 W wRANaa o 1986 T 3R BRI o 2011 H g3 g3l 7 fads afca T3 & [Wan & ey o
TR uy g fHu gl

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Several countries of the world are moving towards renewable energy sources for their development needs.
Reason (R): The renewable resources of energy are of stable nature.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.




1) 1
(2) 2
(3) 3
(4) 4

TS FFERUTUE: @ @l HUHYA (4) R g8 @I 9o (R) el Tl
YA (A) : Y & 3FH® o2 S0+ A el smaxamarsit & o Tai@euig 3ol Wil B 3R o 38 ol
TP (R) : Foil & TP T (R ugfd & 8id &
IUddd Byl & HTeis § Fifed Aol § 3 wdl S| I -
1. (A) 3R (R) THFI T8l & 31X (R), (A) P! Yol cARAT & | )
2. (A)Gﬁ?ER)Eﬁ:ﬁHﬁ%UH(R)r (A) BT Tl e Tol ol
3. (A) W61 € 0 (R) §&1 el &
4. (A) HE1 21 8 I (R) B B

1[Option ID=43893] Question Description : dwbv_pg_gp36_eng_2_q49
2[Option ID=43894]
3[Option ID=43895]
4[Option ID=43896]

Sl. No.50
QBID:36201050




Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

FrafufEa e &1 ufde 7 wst F S S

9 5@ ¥ o e T ¥ 99e 0 g 9 IR & U Sl S@d B 3 Afal-Hadd & iaes & 5O B 36 o
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GHIH I FHY T
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3idr QX Sy Heel U SfaRifia qerESar ol U B & g Tdiewiia Sl @ 3R o @ €1 quiid aqqH # afe off
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To1E STae-32F Fwl Wil B 318 &1 AP Bio ¢l [FEeT UEIR@S! & TR are URIRS ¥U 9 Idliad Anue Sl
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TR Uy @S B

For every 100 units of energy consumed in the process of fusion, the National Ignition Facility in California was able to
produce how many units of energy?

1.50
2.100
3.125
4. 150

OR!
(2) 2
3) 3
(4) 4




oo @1 ufsear | Ufd 100 gfHe @1 ol @ud I SiawiHar g S=Fd 3hRE wErmee Hafak
Jad @R U i

1.50
2,100
3.125
4. 150

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43897] Question Description : dwbv_pg_gp36_eng_2_q50
2[Option ID=43898]
3[Option ID=43899]
4[Option ID=43900]

Paper II : 9-Education

Sl. No.1
QBID:9001

Which of the following Indian School of Philosophy does NOT reject Vedic Authority?

1. Carvaka Philosophy

2. Bauddha Philosophy
3. Sankhya Philosophy
4. Jaina Philosophy

1)
(2)
(3)
(4)

A W N R

ERIRIE & Ffafad YRdg g9eE 8 ¥ 31 fte TiieR & R T8 dai s 7

1. 91ai® a2
2. 491G &3
3. G G=H
4.5 g8F

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45101] Question Description : dwbv_pg_edu_eng_2_q1
2[Option ID=45102]
3[Option ID=45103]
4[Option ID=45104]

Sl. No.2
QBID:9002




Which of the following does NOT belong to the concept of social movement?

1. Relative Deprivation Theory
2. Resource mobilization theory
3. Political process theory

4. Normative theory

1)
(2)
(3)
(4)

A W N R

FofaRad & 9 ®F-91 fagia gmfo s Tfasiaal &1 EyRm ¥ dsfid 98l & 7

1. WUTE® da-1 fagid
2. TOreE S @ [Usid
3. AeHIa® Ui fgid
4. 9D fgid

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45105] Question Description : dwbv_pg_edu_eng_2_q2
2[Option ID=45106]
3[Option ID=45107]
4[Option ID=45108]

Sl. No.3
QBID:9003

Select the correct 4th, 8th & 12th link in the twelve links of suffering according to Bauddha Philosophy.

1. Ignorance, six sense organs, craving

2. Mind-body organism, craving, suffering

3. Six sense organs, sense experience, suffering
4. Consciousness, craving, suffering

(1) 1
(2) 2
(3) 3
(4) 4

d1G 53 & 39R 54 ! 9Re Bied 8 ¥ 9, adT iR IRed dol & Gl 99 Sifod|

1. ST, B: Seg T, T

2. 749-TRR e, gU, g8

3. 9: giad 3, 35T 3ya, g
4. <aq1, qOI, G

1)
(2)
(3)
(4)

A W N R

1[Option ID=45109] Question Description : dwbv_pg_edu_eng_2_q3
2[Option ID=45110]
3[Option ID=45111]
4[Option ID=45112]
|




Sl. No.4
QBID:9004

Spinoza is identified with the idealist tradition because-

1. he insisted upon famous Cartesian inference, 'l think, therefore  am’.

2. he insisted that there is an unchanging and abiding existence undergirding all things, one of the chief attributes of
which is thought

3. he insisted upon the primacy of self

4. he insisted upon the concepts of Monads

1) 1
(2) 2
3) 3
(4) 4

TH @1 ATCRAG W & 914 Ug9H &1 9dl § i1 :

1. 351 34 Uil S $HM W ¥ fedr u1- “# o e g, salau d g1

2. 3% 38 R a4 601 & & uRadaid iR Ros ¢, fogd sidrla uxil Jis ga1iap &, [Had v te 5= U
gl

3. I N (o) BT TG R 99 a1

4. T U3 BT SEURON W & feam

1)
(2)
(3)
(4)

A W N =

1[Option ID=45113] Question Description : dwbv_pg_edu_eng_2_q4
2[Option ID=45114]
3[Option ID=45115]
4[Option ID=45116]

Sl. No.5
QBID:9005

To understand politics, Rational Choice Theory is basically explaining social phenomenon as an outcome of individual action
that can, in some way be construed as rational. In this context, which of the following is not the key element in all rational
choice explanations.

1. Individual preferences
2. Beliefs of the society
3. Individual constraints
4. Individual beliefs

1)
(2)
(3)
(4)

A W N R

TSI & gHgH & ol difdd f[ddhed Rigid geid: 3 AidaTd ®rf & Uidhd & U H gHlfvide URYge] & ARy
Hdl & 9l B! [Pl i@l 4 dbdTd el o 9@dl 8| 39 9y & Fufafed § @ @1 ve wi aifted 997 st & ga
dad A8l 8 ?

1. AfoTa 0dg
2. 99 & 349
3. Jufaa® 4T
4. faaTd fayrg




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45117] Question Description : dwbv_pg_edu_eng_2_q5
2[Option ID=45118]

3[Option ID=45119]
4[Option ID=45120]

Sl. No.6
QBID:9006

Before starting a school for slum dwellers, the government is required to conduct:

1. Cost effective analysis
2. Cost benefit analysis
3. Zero cost analysis

4. Budget analysis

1) 1
) 2
(3) 3
(4) 4

il aftral H faered Eie 9 ugd W & g S A1 Suféd &

1. TINTd UHTd [d=euo]
2. ARTd-aH faeyor

3. TG AT fa=eraur

4. Fofe faweram

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45121] Question Description : dwbv_pg_edu_eng_2_q6
2[Option ID=45122]

3[Option ID=45123]
4[Option ID=45124]

Sl. No.7
QBID:9007

Which among the following is NOT a source of the direct monetary cost for acquiring education?

1. Tuition Fee

2. Book Purchased

3. Forgone Opportunities
4. Transport Cost

1) 1
(2) 2
3) 3
(4) 4




2re und 3= | FefoRed & @ o uay onffe ard e wid 98l 6 2

1. g g

2. TS TS gd
3. BI3 BU Y 3Ew
4. TTaATd AR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45125] Question Description : dwbv_pg_edu_eng_2_q7
2[Option ID=45126]

3[Option ID=45127]
4[Option ID=45128]

Sl. No.8
QBID:9008

The vision of National Knowledge Commission (NKC) was to -

1. examine the existing system of secondary education in the country.
2. develop a common school system.

3. develop a sense of self reliance and dignity of the individual.

4. enable the development of a vibrant knowledge based society.

1) 1
(2) 2
3) 3
(4) 4

AP F AN (@ & ) B 58T Ie=0 W &

1. SR F Trafie a1 & aaaM saaw &1 THET S
2. U% G (GeTery sHawyT (@15 wod ees) @ [dh™ Sl
3. Sigd & G AR AEHERA & a1 $1 [GHE S
4. T% GRIGd FH AN GHIS & [Gore & H &1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45129] Question Description : dwbv_pg_edu_eng_2_q8
2[Option ID=45130]

3[Option ID=45131]
4[Option ID=45132]

Sl. No.9
QBID:9009

‘Empircal’ means

1. Based on Research questions
2. Based on data

3. Based on hypothesis

4. Based on controlling variables

(1) 1
(2) 2
(3) 3
(4) 4




FHIHAIED @ 3 §

1. RI1Y e U O° e
2. HiEwsl R eid

3. U@ g | M

4, Ffd 93 W amenfed

1)
(2)
(3)
(4)

A W N R

1[Option ID=45133] Question Description : dwbv_pg_edu_eng_2_q9
2[Option ID=45134]
3[Option ID=45135]
4[Option ID=45136]

Sl. No.10
QBID:9010

Early childhood experiences are critical especially for emotional/social/cognitive development, is influenced by the thoughts
of

1. Carl Rogers

2. Edwin Gordon

3. Sigmund Freud
4. Max Wertheimer

1)
(2)
(3)
(4)

RS ST & HHd HdadIds, QAles, SIS [dh™ o Y (93 %0 € Agayui Bl 8, 78 EACEINE
THIfaa g1

1. BTe oy
2. TEfEA e
3. RriE was
4. He Ge IR

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=45137] Question Description : dwbv_pg_edu_eng_2_q10
2[Option ID=45138]
3[Option ID=45139]
4[Option ID=45140]

Sl. No.11
QBID:9011

Who gave the theory of psychosocial development?

1. Benjamin Spoch
2. Erik Erikson
3. Jean Erikson
4. Benjamin Bloom

1) 1
) 2




3) 3
(4) 4

T1-grEiee fAer &1 feid fad ufamfed & e

1. SO W
2. TR TREH
3. oI EiEEH
4. defIfeE s

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45145] Question Description : dwbv_pg_edu_eng_2_q11
2[Option ID=45146]

3[Option ID=45147]
4[Option ID=45148]

Sl. No.12
QBID:9012

For Mastery Goal Orientation, which one of the following is considered as a standard used under avoidance focus?

1. Perfectionists do not make mistakes
2. Self improvement

3. Winning the competition

4. Be the slowest

(1) 1
) 2
3) 3
(4) 4

I PPl &g AN @rRed i sdiftuezm) & g, Fafifad & 3 fod wWite< Biew & ded te uged 97 (Kiss
TTS) GHT ST 8 7

1. QUiaTamG (RBaRI-%e) Tatadl Tal ®id
2. W-QUR

3. ufqgifirar & sfian

4. g&d i g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45149] Question Description : dwbv_pg_edu_eng_2_q12
2[Option ID=45150]

3[Option ID=45151]
4[Option ID=45152]

Sl. No.13
QBID:9013

The establishment of DIETs was the result of recommondation by

1. University Education Commission, 1948
2. Education Commission (1964-66)

3. The National Policy on Education, 1968
4. National Policy on Education,1986




1) 1
(2) 2
(3) 3
(4) 4

ST3C (313115 3.0) © WA Hafaiad 3 O g o =141 & IR ey &1 T 2

1. fayfaeTera fuam amamT, 1948
2. 21871 SO (1964-66)

3. fRre @t wPTE ifd, 1968

4. TR @t Tt Aifd, 1986

1)
(2)
(3)
(4)

A W N R

1[Option ID=45153] Question Description : dwbv_pg_edu_eng_2_q13
2[Option ID=45154]
3[Option ID=45155]
4[Option ID=45156]

Sl. No.14
QBID:9014

The Teacher Education Institutes are accreditated by:

1.Qd

2. NCTE

3. NCERT
4. NAAC

1)
(2)
(3)
(4)

A W N R

e e TF Fefafad 3§ 9 Fud g uaiia & ¢

1. TGS,
2. S
3. AR AL

4.7 0CHL

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45157] Question Description : dwbv_pg_edu_eng_2_q14
2[Option ID=45158]
3[Option ID=45159]
4[Option ID=45160]

Sl. No.15
QBID:9015




As per the National Education Policy-2020, which of the following is correct about continuous professional development of
school teachers?

1. Every school teacher requires minimum 40 hours of continuous professional development every year

2. Every school teacher requires minimum 50 hours of continuous professional development per year

3. Every school teacher requires minimum 40 hours of continuous professional development in his/her career
4. Continuous professional development is not essential for school teachers

1)
(2)
(3)
(4)

T e i - 2020 P SER, FEGREd H ¥ B W Y el e & T g ey & e H P § 7

1. U faeTerit Sfeds @i Uiday 40 U< & Hdd g [dard SrshH G &= gl

2. U faegrerdi sieagd @I Ufdad 50 He & Fad ghid A dRihH g &3 gl |

3. U faeiTerd U &1 S0 dTbie H 40 U< & Hdd givd [Ger HrasH G & ol
4. Tt sreamuet & T Uaa afve faemg sies smavas T2 2

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45161] Question Description : dwbv_pg_edu_eng_2_q15
2[Option ID=45162]
3[Option ID=45163]
4[Option ID=45164]

Sl. No.16
QBID:9016

Which of the following is not an example of ‘reflective teaching' ?

1. Writing journal

2. Reading textbook

3. Gathering feedback from students
4. Recording a class

1)
(2)
(3)
(4)

A W N R

Fafiaa & 9 @ Riaeia e &1 te e a8 &

1. Sd oA

2. UIEIYEId UaH

3. @A U UiAgfy U &
4. B B RapIiam

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45165] Question Description : dwbv_pg_edu_eng_2_q16
2[Option ID=45166]
3[Option ID=45167]
4[Option ID=45168]




Sl. No.17
QBID:9017

Who is the writer of famous book "Foundations of Education (1926)"7

1. William Kilpatrick
2. John Dewey

3. Ralph W. Tyler

4. Hollies Caswell

1) 1
(2) 2
3) 3
(4) 4

TS T " BI3ved-d 3P To[d=H (1926)° B GED D 6 ?

1. faferan fratfes
2. - Sidt

3. e 95 25R
4. g9 gaa

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45169] Question Description : dwbv_pg_edu_eng_2_q17
2[Option ID=45170]

3[Option ID=45171]
4[Option ID=45172]

Sl. No.18
QBID:9018

Which of the following is NOT a source for curriculum design?

1. Science as a source

2. Economy as a source
3. Society as a source

4. Knowledge as a source

1) 1
(2) 2
(3) 3
4) 4

Faffad § 9 &1 ususH Afiied B Fid =88 2

1. 919 & ®9 9 fagm

2. 9 & ®9 7 sdfomamy
3. 9Id & ¥U H 99
499 F EUEFH

(1)1
(2) 2
3) 3
(4) 4

1[Option ID=45173] Question Description : dwbv_pg_edu_eng_2_q18
2[Option ID=45174]




3[Option ID=45175]
4[Option ID=45176]

Sl. No.19
QBID:9019

Technical-Scientific curriculum developers focused upon aspect.

1. Subjective
2. Personal
3. Universal
4. Aesthetic

1)
(2)
(3)
(4)

A W N R

ddb-1d1-391® UTdashd ol fde™ & aral - Fufeied efein w am $fgg &

1)
(2)
(3)
(4)

A W N R

1[Option ID=45177] Question Description : dwbv_pg_edu_eng_2_q19
2[Option ID=45178]
3[Option ID=45179]
4[Option ID=45180]

Sl. No.20
QBID:9020

Which of the following is not a basic principle suggested by Tyler?

1. Determine the teacher's purposes

2. Identify educational experiences related to those purposes
3. Ascertain how the experiences are organized

4. Evaluate the purposes

1)
(2)
(3)
(4)

A W N =

FrofaRad § O @ Trger g~ Y9 Y 9 fugial & 9 te qayd Risia 38 @
1. R&@ & Je=al &1 Ayl
2.3 Iexdl Y Ydifd Q&M syal @1 ugdH
3. 3Hd @& YIS/ aRYd BH & aiid! ol GHIET Bl
4, 3541 BT HedidA

1)
(2)
(3)
(4)

A W N R




1[Option ID=45181] Question Description : dwbv_pg_edu_eng_2_q20
2[Option ID=45182]
3[Option ID=45183]
4[Option ID=45184]

Sl. No.21
QBID:9021

When ‘between-groups variance' is substantially greater than the ‘within-groups variance’, the difference between the
means may be ascribed only to:

1. Sampling error

2. Measurement error
3. Constant error

4. Chance error

1)
(2)
(3)
(4)

A W N R

od 9ge! & ST faeRu, 9gE! & SR @) fauvy ¥ Iwre-E ¥ ¥ i@ § df 91! & 9 3R $ad fed ¥ RN 8 9adl

3
1. e e ™
2.\ 3R U
3. Fa I g
4. @R Al |

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45185] Question Description : dwbv_pg_edu_eng_2_q21
2[Option ID=45186]
3[Option ID=45187]
4[Option ID=45188]

Sl. No.22
QBID:9022

Which of the following is a principle of experimental research design?

1. Maximizing treatment variance

2. Minimizing error variance

3. Maximizing error and minimizing treatment variance
4. Maximizing treatment and minimizing error variance

(1)
(2)
(3)
(4)

afafaa & € oF-a1 umife oy sifide @ Foa g 2

1. SUAR ek &I HHaH HAT

2. 7 TawRu &I gAaH S

3. 3R amRur @ SifY@an &A1 IR IUaR G &I THad &A1
4. JUTR [GTRU I HYHIH HAT AR ¢ TGRS gAdH BT

A W N R

1 1
2) 2




3) 3
(4) 4

1[Option ID=45189] Question Description : dwbv_pg_edu_eng_2_q22
2[Option ID=45190]
3[Option ID=45191]
4[Option ID=45192]

Sl. No.23
QBID:9023

In a given score distribution of 12,14,16,18 and 20, the sum of square deviation is:

1.12
2.24
3.40
4. Zero

1) 1
(2) 2
3) 3
(4) 4

feuMu AR 12, 14, 16, 18 R 20 H T FE@E BT AT & -

1.12
2.24
3.40

4.7

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45193] Question Description : dwbv_pg_edu_eng_2_q23
2[Option ID=45194]

3[Option ID=45195]
4[Option ID=45196]

Sl. No.24
QBID:9024

The maximum value of reliability coefficient of a certain test is:

1. with in a range of +1.00
2. between 0.00 to 1.00

3. +1.00

4, -1.00

1) 1
(2) 2
3) 3
(4) 4

T M3 WIEU & [GRe-adr quie @ Sfiead Iod 6l 9odl & :

1. +$1.00 P W & Jeid
2.0.00 ¥ 1.00 B &

3. +1.00

4. -1.00

1 1




(2) 2

3) 3

(4) 4

1[Option ID=45197] Question Description : dwbv_pg_edu_eng_2_q24
2[Option ID=45198]

3[Option ID=45199]
4[Option ID=45200]

Sl. No.25
QBID:9025

A teacher is attempting to help students question and challenge domination, the beliefs and practices that dominates them.
In this way, teacher is trying to connect knowledge to power and the ability to take constructive action. What is this
educational approach called?

1. Pedagogical analysis
2. Dialogue method

3. Critical pedagogy

4. Pedagogy

(1)
(2)
(3)
(4)

A W N R

D YD B I 3 Wi, [yl iR SHagR, &l 39 W U 9HIU U &, U WY 36 3R 3 gHldl o H Hgrial -
B UTH @ el & | 39 e 4 98 91 @ fad d Fia- 3R IgE® B &3 &1 &Hdl 9o & U419 B 38l 81 39 Qe
SURTH &I 71 Bl Al & ?

1. & ST fa=ewor
2. Hare fafr

3. AT R4 AR
4. TRregor R

1)
(2)
(3)
(4)

A W N R

1[Option ID=45201] Question Description : dwbv_pg_edu_eng_2_q25
2[Option ID=45202]
3[Option ID=45203]
4[Option ID=45204]

Sl. No.26
QBID:9026

Which one of the following code describes the 'Directions, Commands or Orders to which a pupil is expected to comply® as
per Flander's Interaction Categery system?

1. Category 5
2. Category 7
3. Category 3
4. Category ©

1)
(2)
(3)
(4)

A W N R




T B fa:foban 4oft srawyt & R Ffafed o 4 o5 W g U o1 gR1 3miEE orueH & faw e, smel 3R
HIGRIT BT qUiH Hdl & ?

1. 910f 5
2. 907 7
3. it 3
4. 807 6

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45205] Question Description : dwbv_pg_edu_eng_2_q26
2[Option ID=45206]

3[Option ID=45207]
4[Option ID=45208]

Sl. No.27
QBID:9027

If a teacher gives scores to correct responses in a class-test and enlists total marks of each learner, he/she has done:

1. Assessment

2. Measurement

3. Evaluation

4. Value Judgement

OR!
() 2
(3) 3
(4) 4

afe ®I3 e fodl Har-gden H T8l T | 3 odl § IR o R&mdll & $d Wdie! & Ydids bdl g, d 394
Fofafea o faar &

1. BT

2. |04

3. Heid

4. geg-fem

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45209] Question Description : dwbv_pg_edu_eng_2_q27
2[Option ID=45210]

3[Option ID=45211]
4[Option ID=45212]

Sl. No.28
QBID:9028

Which among the following is a purpose of a display portfolio?

1. To diagnose the difficulty areas of learners

2. To demonstrate highest level of achievement attained by learners
3. To document students's learning of specific learning outcomes

4. To demonstrate mastery of learners in any curricular area.

(1)1
(2) 2
(3) 3




(4) 4

1)
(2)
(3)
(4)

A W N =

1[Option ID=45213]
2[Option ID=45214]
3[Option ID=45215]
4[Option ID=45216]

frafafad 3 9 o veei vl o1 3exa 8

1. Fnenfifar & feE g & &1 Fgm

2. Trenfifal g1 U @1 75 Swad Judied ol UG

3. fafay sftrm-ufawa & de & S & Sfi &7 st
4. UTETET o fardl & H Ranfiat &1 Fgorar &1 uerH

Question Description : dwbv_pg_edu_eng_2_q28

Sl. No.29
QBID:9029

3. NISHTHA
4. Vyas

1)
(2)
(3)
(4)

A W N R

1. =Tl g
2. T gUor
3.m
4. 919

1)
(2)
(3)
(4)

A W N R

1[Option ID=45217]
2[Option ID=45218]
3[Option ID=45219]
4[Option ID=45220]

1. Shaala siddhi
2. Shaala Darpan

Which among the following is a school management tool being used by Kendriya Vidyalayas?

Sgig Gereal gr1 Fafafad d oy faeeag udys Sus o & yarT S s @i s 2

Question Description : dwbv_pg_edu_eng_2_q29

Sl. No.30
QBID:9030

2. Pod casts

1 1
2) 2

1. You Tube Videos

4. Discussion forum

Which among the following is not an example of asynchronous learning environment?

3. Video conferencing




3) 3
(4) 4

rgHEE EATH aERy & FHiRad § 9 &H 91 19 I T8l & ?

1. gegs difsan
2. GISPhrey

3. difea BIapfaT
4. T 44

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45221] Question Description : dwbv_pg_edu_eng_2_q30
2[Option ID=45222]

3[Option ID=45223]
4[Option ID=45224]

Sl. No.31
QBID:9031

The Computer Assisted Learning (CAL) packages are based on which psychological learning theory?

1. Cognitivist

2. Constructivist
3. Behaviourist
4. Connectivist

(1) 1
) 2
3) 3
(4) 4

DR WD HH @l U va) Uo [y #-ldgi-e fbgid R uRd sid g 2

1. HHaE!
2. GgAETe!
3. TIdERAIG!
4. Haearat

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45225] Question Description : dwbv_pg_edu_eng_2_q31
2[Option ID=45226]

3[Option ID=45227]
4[Option ID=45228]

Sl. No.32
QBID:9032

Which among the following believes in networked learning?

1. Behaviourism
2. Cognitivism

3. Constructivism
4. Connectivism

1) 1




) 2
3) 3
(4) 4

“gfafad 5 9 &, Iora St (Networked Learning) O fayraeeaie ?

1. AdgRdlq
2. §yHdig
3. H39EaG
4, GEydig

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45229] Question Description : dwbv_pg_edu_eng_2_q32
2[Option ID=45230]

3[Option ID=45231]
4[Option ID=45232]

Sl. No.33
QBID:9033

Which of the following implies the ‘refreeze’ step of Lewin's change management model?

1. Communicate a change
2. Execute a change

3. Plan a change

4. Reinforce a change

1) 1
(2) 2
3) 3
4) 4

frafafad 7 9 foud i & uRadd Ueed e &1 Jwisr @R saftiRda s

1. OREdH @I YU S

2. UREdH @I Srffad B!
3. GREH B GioHl GOR BT
4. 9RadH @1 gAdeH

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45233] Question Description : dwbv_pg_edu_eng_2_q33
2[Option ID=45234]

3[Option ID=45235]
4[Option ID=45236]

Sl. No.34
QBID:9034

Six Sigma focusses on the enhancement of the following through DMAIC as a data-driven quality methodology:

1. Process
2. Product
3. Purchase
4. Power




1) 1
(2) 2
(3) 3
(4) 4

T o ue Ser-garfer ua sfafy & w0 H S v v s O & orew 3 g T o $iEa s e

1. Ufshdr
2.3dlgq
3.4

4. Tfdd

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45237] Question Description : dwbv_pg_edu_eng_2_q34
2[Option ID=45238]
3[Option ID=45239]
4[Option ID=45240]

Sl. No.35
QBID:9035

As per the National Education Pelicy-2020, Professional Standard Setting Bodies will be the members of the following:

1. National Accreditation Council

2. Higher Education Grants Council

3. National Higher Education Regulatory Council
4. General Education Council

1)
(2)
(3)
(4)

A W N R

ETT TR1e i (T 3 ) 2020 F AIER HFHES FHE FuR0 FEm (kT €53 458 42 sidiv) feus ge 8

1. TP T IRUg

2. 3= T4l 3 uRkug

3. TP I=R T faf-ame uieg
4. grHg f2aT uRug

1)
(2)
(3)
(4)

A W N R

1[Option ID=45241] Question Description : dwbv_pg_edu_eng_2_q35
2[Option ID=45242]
3[Option ID=45243]
4[Option ID=45244]

Sl. No.36
QBID:9036




In educational management as a system:

1. processes are unpredictable.
2. processes are mechanical.

3. outputs are uniform in nature.
4. inputs are not same.

1)
(2)
(3)
(4)

A W N R

T YUl & &9 § e JeeA H

1. UfehaTd SUard gidi g1

2. yiehard Tify® gidt 2

3. FFlavpfad ve saF B B
4, 3d U G911 T 2id 2

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45245] Question Description : dwbv_pg_edu_eng_2_q36
2[Option ID=45246]
3[Option ID=45247]
4[Option ID=45248]

Sl. No.37
QBID:9037

In which of the following educational policy/act of India, Indian sign language for teaching and monitoring is involved?

1. NPE-1986
2. RPwD-2016
3. NEP-2020
4. PwD-1995

1)
(2)
(3)
(4)

A W N R

YRd &1 Hufdiad # 9, fw Qg Hifay siféfas d & vd sigs@u @ iHieien gq R ddd N 9 g 7

1. G903, - 1986

2. AR UISs 3l - 2016
3.3 - 2020

4. U1 E= 3. - 1995

1)
(2)
(3)
(4)

A W N R

1[Option ID=45249] Question Description : dwbv_pg_edu_eng_2_q37
2[Option ID=45250]
3[Option ID=45251]
4[Option ID=45252]
|




Sl. No.38
QBID:9038

Inclusive education:

1. Encourages strict admission procedures

2. Celebrate diversity in classroom

3. Includes indoctrination of facts

4. Includes teachers from marginalized groups

(1)
(2)
(3)
(4)

FATGET e -

1. BOR UGR Ui dT @I Uicaed ®dl 6l

2. & fafquar of u=iar &l 8

3. ai @l e o SRifud &l g

4. Iuifad gl U gl & AHd ddl g

A W N R

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=45253] Question Description : dwbv_pg_edu_eng_2_q38
2[Option ID=45254]
3[Option ID=45255]
4[Option ID=45256]

Sl. No.39
QBID:9039

Which of the following statements is not correct with reference to Assistive Technologies (AT) in general:

1. Leads to greater autonomy in all spheres of life.
2. Aids in sustaining self-motivation.

3. Promote inclusion at home and community.

4. Helps in attaining increased dependence.

(1) 1
(2) 2
(3) 3
(4) 4

Held da-id (AT) P e g €0 4, FadEa d S e W Sy 98l Tal o 7

1. 5iTa & gt At 7 it et 3 3R 3 S 2
2. -0 B §91E @ H Feadl dal 6l

3. TR Ud GG H GHIGYH &I 9g1d1 Gl 5|

4. 931 g3 (1R &1 Uid &3 H Teg $ed o

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=45257] Question Description : dwbv_pg_edu_eng_2_q39
2[Option ID=45258]
3[Option ID=45259]
4[Option ID=45260]
________________________________________________________________________________________________________________________________|]




Sl. No.40
QBID:9040

Which among the following responsibilities of a teacher is related to behaviour management of children with disabilities?

1. Establishing weekly time-table
2. Evaluate student's progress, either individually or as a group

3. Plan positive shaping interventations and supports for whole class and for individual students
4. Reviews the IEP regularly with the support staff

1)
(2)
(3)
(4)

A W N R

f:2190a1 910 =1 & SIa8R UeH & AT sreud & @ forreRi & 2

1. HIEAE S FHT-FIR0 Heiid S

2. Juida® a1 aHfed =4 4, faemd & unld &1 gegisA

3. 431 gl 3R didaa faeiddl & fou SoRiEs MHIVEGR! §5ad Ud Sgadl @ HaleH
4. GEIP BIHT] Bl GG 9 315 3 Ul &1 gdd Y&l

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45261] Question Description : dwbv_pg_edu_eng_2_q40
2[Option ID=45262]
3[Option ID=45263]
4[Option ID=45264]

Sl. No.41
QBID:9041

Which of the following purposes have been served by family as a social institution?
A. It socializes children.

B. It provides practical and emotional support for its members.

C. It establishes a goal of social equality.

D. It regulates sexual repreduction.

E. It provides its members with a social identity.

Choose the correct answer from the options given below:

1.A C DandEonly
2. A, B, D and E only
3.B,Cand D only
4.C, D and E only

1)
(2)
(3)
(4)

A W N R




U I YRIT & ¥4 H URER Fafeiied § 9 fo- 3ozl &1 gfd dxar g 2
A. TE Sl B1 HHISIHRY Bl 6

5. U U HEHl B SIGeIR® U4 HIEAH® §H2H UgH PRl ¢

C. Ug HHIfoid §HHCl & &g B -] H3dl &

D. Tg U U &I g5 &l g

E. U8 U ol &1 Udh HHIoid UgdH UaH &l gl
< feu e fadenl o U 98l SR g :

1.®BAdA, C, D3R E

2. ®dd A, B, DIARE

3. $ad B, C AR D
4. %A C, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=45265] Question Description : dwbv_pg_edu_eng_2_q41
2[Option ID=45266]
3[Option ID=45267]
4[Option ID=45268]

Sl. No.42
QBID:9042

Which of the following statements are true?

A. Study of problem of freedom comes under metaphysics.
B. Study of empiricism comes under Epistemology.

C. Induction method falls under the purview of logic.

D. A priori knowledge falls under Axiology.

E. Concept of God falls under Epistemology.

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1)
(2)
(3)
(4)

A W N R




e Hd PR g Py 981 & 7

A, ST DI GHR BT TG dd HIH1G] & SAFd 1l 8

B. HIYTATG @1 AT T T & AAUSHR & AT Al &
C. SR UG GheITed o &EAIIPR b Sfavid 3l gl

D. Jd-3H Yea=Id & Adild A1al 21
£ 4R P Yo IH HIH & SHd o 3
i< feu U faswel # 4 9t Iw g :
1.®dd A, B 3R C
2.Had B, C 3R D

3.%aAC, DIAHRE
4.FaAA DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45269] Question Description : dwbv_pg_edu_eng_2_q42
2[Option ID=45270]

3[Option ID=45271]
4[Option ID=45272]

Sl. No.43
QBID:9043

Which of the following statements are true?

A. Sankhya means the Philosophy of right knowledge (Samyak khyati)

B. Sankhya is a pluralistic spiritualism and an uncompromising dualism

C. Right knowledge is the knowledge of the association of the Purusha with the Prakriti
D. Shankaracharya regards sankhya as a main ‘main opponent’ of Vedanta

E. The view of sankhya yoga is called Prikiti-arambhavada

Choose the correct answer from the options given below:

1. A B and E only
2.B, Cand D only
3.A Band D only
4. A CandEonly

1)1
(2) 2
(3) 3
(4) 4




T dd e d ey gd e ?
A gied &1 o § - §H (¥R BATfd) B 6=

B. e 3RHalg! fIHalg Ud Ud fHiadg ad &
C. ¥, Y3 &1 Upid I YN &1 71 §

D. XX 3 Hied Bt Igid & T faueh oer e
. TRy TR & faaR & Uaid- HRAEIG el ol &
i< feu U faswel # 4 9t Iw g :
1.®dd A B3R E
2.Had B, C 3R D

3. HaAA, B AR D
4.FTAA, CAHRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45273] Question Description : dwbv_pg_edu_eng_2_q43
2[Option ID=45274]

3[Option ID=45275]
4[Option ID=45276]

Sl. No.44
QBID:9044

Yashpal Committee Report (2009) advocated for:

A. Proliferation of deemed universities

B. Promoting privatisation of Higher Education

C. Curriculum Reforms

D. Fullfledged University status to IIT and [IM

E. Establishing National Commission for Higher Education
Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.D, Eand A only

1)1
(2) 2
(3) 3
(4) 4




T WAl &1 Ufdded (2009), 5 FofaRad U fog o1 sr=iw & ?
A. e fagfaryedr @1 u=Ral

B. SR &M & iRy I UiTe

C. greadi gUR
D. 315 318, T1. 3R TS, 15, UH. &1 qui fayfaae & U H Hrdr
E. W IR TRIEMT 3TaNT Bl TG

i< feu 7Tu fadedl 5 9 98l SR 9 -

1)
(2)
(3)
(4)

1. BaAA, B3R C
2.%ad B, C AR D
3.%aq C, D AR E
4.PaAD, EARA

A W N R

1[Option ID=45277]
2[Option ID=45278]
3[Option ID=45279]
4[Option ID=45280]

Question Description : dwbv_pg_edu_eng_2_q44

Sl. No.45
QBID:9045

The Kothari commission recommended:

A. Part-time and correspondence courses should be discouraged at university stage

B. Science education and research should receive high priority

C. Establishment of school complexes

D. Secondary education should be largely vocationalised

E. In non Hindi speaking states, use of Hindi should be discouraged.

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

1. A B and C only
2.B, Cand D only
3.C, Dand A only
4. A Dand E only

A W N R




DISRI AN A g SRl -
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2.Had B, C 3R D

3.HaaC, D AR A
4.FaAA DIARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=45281] Question Description : dwbv_pg_edu_eng_2_q45
2[Option ID=45282]
3[Option ID=45283]
4[Option ID=45284]

Sl. No.46
QBID:9046

What is NOT Counselling?

A. Giving information

B. Giving suggestions

C. Influencing client's values, attitudes, beliefs

D. Bringing voluntary change

E. Giving warmth to client

Choose the correct answer from the options given below:

1. A Cand D only
2. A Band Conly
3.B, D and E only
4.C, Dand E only

(1)
(2)
(3)
(4)

A W N R




RE #1981 6 ?
A TGl

B. gE &A1
C. AEd (FT5e) o Hedi, HAIgRml SR fayraf & yifad &

D. Wfwsd w4 4 URadH o
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1.®dd A, C 3R D
2.Had A, B3R C

3. %dd B, D ANE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45285] Question Description : dwbv_pg_edu_eng_2_q46
2[Option ID=45286]

3[Option ID=45287]
4[Option ID=45288]

Sl. No.47
QBID:9047

Creative pupils are at higher risk of-

A. Exploitation

B. Disengagement

C. Ignorance

D. School dropout

Choose the correct answer from the options given below:

1. A and B only
2.Band C only
3.B and D eonly
4.Cand D only

1) 1
(2) 2
(3) 3
(4) 4




GolRid &=l R _____ 1 {8 AIRgH gidl o

A. g0y

B. Sr¥qdr

C. SiRIFdT

D. faeITer @RT (31U 3132

i< feu e fasedl 4 9 981 IR 94 -
1.®dd A 3R B
2.5qa B R C

3. WA B 3R D
4.%ad CIAND

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45289] Question Description : dwbv_pg_edu_eng_2_q47
2[Option ID=45290]

3[Option ID=45291]
4[Option ID=45292]

Sl. No.48
QBID:9048

The National Policy on Education (NPE-1986) recommended the launch of centrally sponsored schemes of teacher
education. Which of the following institutes are the outcome of this scheme?

A. DIETs

B. RIEs

C. CTEs

D. IASEs

E. TLCs

Choose the correct answer from the options given below:

1. A, B and E only
2. A, Cand D only
3.B, Cand E only
4.B, Cand D only

(1) 1
(2) 2
(3) 3
(4) 4
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1. ®ad A B3R E
2.%ad A CHRD

3. HaqAB, C ARE
4.%dd B, C AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=45293] Question Description : dwbv_pg_edu_eng_2_q48
2[Option ID=45294]
3[Option ID=45295]
4[Option ID=45296]

Sl. No.49
QBID:9049

Why is the professional development of teachers required?
A. To expand the knowledge demain of subjects

B. To get entry in teaching profession

C. Enactment of policies and schemes

D. Due to changing pedagogy

E. To meet personal financial requirement

Choose the correct answer from the options given below:

1.C, D and E only
2. A, CandE only
3.B,Cand E only
4. A Cand D only

1)
(2)
(3)
(4)

A W N R
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1. %3 C, D ARE

2. BadA C3HRE

3. HadB, C ARE
4. HAAA, C3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45297] Question Description : dwbv_pg_edu_eng_2_q49
2[Option ID=45298]

3[Option ID=45299]
4[Option ID=45300]

Sl. No.50
QBID:9050

What are the four basic questions raised by Ralph Tyler for curriculum planning?
A. What educational goals are to be attained?

B. What instructional materials are needed for attaining the goals?

C. How the methods and strategies are to be organised?

D. How will attainment of goals to be evaluated?

E. What learning experiences are to be provided for attaining the goals?

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.A,C DandE only
3.C, D, Eand B only
4. A B, Dand E only

1) 1
(2) 2
3) 3
(4) 4




UraushH (e & Y I 5ok gRI 3B IR Jayad Uy Mg H 4 H U g ?
A B Y Q0TS 6T U fhT & & 2
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c. faft 3R Turifeal &1 &8 drfed fpar Mg 2
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1. ®ad A, B, C3R D
2.BaT A C, DHRE

3. ®WaAC, D, E 3R B
4. HAddA, B, D AHRE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45301] Question Description : dwbv_pg_edu_eng_2_q50
2[Option ID=45302]

3[Option ID=45303]
4[Option ID=45304]

Sl. No.51
QBID:9051

Select the steps used in curriculum designs-

A. Selection of learning experiences

B. Detailing the budget

C. Formulation of objectives

D. Diagnosis of needs

E. Selection of appropriate human resources

Choose the correct answer from the options given below:

1. A B and E only
2. A Band Conly
3.A Cand D only
4.C, Dand E only

1) 1
(2) 2
3) 3
(4) 4
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A. R 3Yal &1 9ad
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E. 3Ugad Ha 991! & 994
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1.Ba A, B ARE
2.%adA, BIAHRC

3. Had A, C 3R D
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45305] Question Description : dwbv_pg_edu_eng_2_q51
2[Option ID=45306]

3[Option ID=45307]
4[Option ID=45308]

Sl. No.52
QBID:9052

Find the correct pairs-

A. Rationalist- Teacher as source of ideas, facts and information
B. Empiricist- Teacher as demonstrator of process

C. Existentialist- Teacher as facilitator of choices

D. Pragmatist- Teacher as controller

E. Idealist- Teacher as friend

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.D, Eand A only

1)1
(2) 2
(3) 3
(4) 4




el T UgdTT|
A. Thare! - fGaRl 9l SR ga1 & did & U H e
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i< feu U faswel # 4 9t Iw g :
1.®dd A, B 3R C
2.Had B, C 3R D

3.%aAC, DIAHRE
4.%HaAD, EAR A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45309] Question Description : dwbv_pg_edu_eng_2_q52
2[Option ID=45310]

3[Option ID=45311]
4[Option ID=45312]

Sl. No.53
QBID:9053

If a researcher computes ten (10) t-tests for comparing five means at the 0.05 significance level, then:
A. The overall Type Il Error rate for the experiment will increase.

B. The probability is 0.50 to reject at least one null hypothesis, when it is true.

C. There will be an unacceptable high error rate for the total experiment.

D. The overall Type | Error rate for the experiment will increase.

E. The rate of Type | and Il errors for the experiment will remain equal.

Choose the correct answer from the options given below:

1. A B and C only
2.B, D and E only
3.B, Cand D only
4.C, Dand E only

1)1
(2) 2
(3) 3
(4) 4
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2. %adB, D AR E

3. $ad B, C AR D
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45313] Question Description : dwbv_pg_edu_eng_2_q53
2[Option ID=45314]

3[Option ID=45315]
4[Option ID=45316]

Sl. No.54
QBID:9054

Which of the following characterise a qualitative research?
A. Researcher dependent

B. Tools dependent

C. Context specific generalization

D. Minimal citation of literature

E. Context-free generalization

Choose the correct answer from the options given below:

1.B, C and E only
2.D, Eand B only
3.E D and A only
4. A, Cand D only

1)1
(2) 2
(3) 3
(4) 4
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i< feu U faswel # 4 9t Iw g :
1.®dd B, C 3R E
2.Had D, E 3R A

3. BAAE, D AR A
4.HAAA, C3HRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45317] Question Description : dwbv_pg_edu_eng_2_q54
2[Option ID=45318]

3[Option ID=45319]
4[Option ID=45320]

Sl. No.55
QBID:9055

Distinguished features of the action research are as follows:
A. Only teachers conduct action research.

B. A small accessible population is used for the study.

C. Sample drawn from a population is used for the study.
D. Researcher is the consumer of the findings.

E. Obtained findings are generalized to the population
Choose the correct answer from the options given below:

1. A and C only
2.Cand E only
3.B and D only
4.D and E only

1)1
(2) 2
(3) 3
(4) 4
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2.%ad C AR E

3. Haa B AR D
4.%HaAD ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45321] Question Description : dwbv_pg_edu_eng_2_q55
2[Option ID=45322]

3[Option ID=45323]
4[Option ID=45324]

Sl. No.56
QBID:9056

According to Mager (1997), which among the following are important characterstics of an instructional objective?
A. Language

B. Performance

C. Behaviour medification

D. Criterion

E. Condition

Choose the correct answer from the options given below:

1. A Cand D only
2.B, D and E only
3.A Band D only
4.B, C and E only

1)1
(2) 2
(3) 3
(4) 4




TR (1997) & IER, FuftREd ¥ 9 @FH-U #6d® 3520 & He@yU| [G=vdng § 2
A, HTHT
B. AmIEH
C. deR UREH
D.HFGS
E. f&ufa
i feu 7 fadhedi H U Ugl IR 94 -
1.®HAA A, C3RD
2. ®dd B, D AR E
3. HaAA, B AR D
4. HaAB, C R E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45325] Question Description : dwbv_pg_edu_eng_2_q56
2[Option ID=45326]

3[Option ID=45327]
4[Option ID=45328]

Sl. No.57
QBID:9057

Which among the following are not the cognitive processes dimension of Anderson and Krethwohl's taxonomy of
instructional objectives:

A. Understand

B. Comprehension

C. Apply

D. Synthesis

E. Evaluate

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.B and D only
4.Cand E only

1) 1
(2) 2
(3) 3
(4) 4
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B. §1Y
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E. eI
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1. ®ad A 3R B
2. %aaB R C

3. Haa B AR D
4. %A C AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=45329] Question Description : dwbv_pg_edu_eng_2_q57
2[Option ID=45330]
3[Option ID=45331]
4[Option ID=45332]

Sl. No.58
QBID:9058

Which of the following are the symbols of creative common licences?

Choose the correct answer from the options given below:

1.A Cand D only
2. A, Band D only
3.B,Cand E only
4. A, B and E only

1)
(2)
(3)
(4)

A W N =
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1.®Wad A, C3MRD
2. %ad A B AR D

3. HadB, C ARE
4.FHAAA, B AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45333] Question Description : dwbv_pg_edu_eng_2_q58
2[Option ID=45334]

3[Option ID=45335]
4[Option ID=45336]

Sl. No.59
QBID:9059

Which of the following are not considered as a content for Instructional Technology?
A. Criterion tests

B. Task analysis

C. Medification of behaviour

D. Controlling of teaching

E. Planning of teaching

Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3.A Cand D only
4. A, Band E only

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45337] Question Description : dwbv_pg_edu_eng_2_q59
2[Option ID=45338]

3[Option ID=45339]
4[Option ID=45340]

Sl. No.60
QBID:9060

Which among the following are not open educational resource repositories?
A. NROER

B. e-gyankosh

C. National Digital Library

D. OASIS

E. Gyandarshan

Choose the correct answer from the options given below:

1.B, Cand D only
2.B, C and E only
3.A Cand D only
4. A, BandE only

1)1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45341] Question Description : dwbv_pg_edu_eng_2_q60
2[Option ID=45342]

3[Option ID=45343]
4[Option ID=45344]

Sl. No.61
QBID:9061

Which of the following are within the quality indicator framework of NAAC for assessing Higher Education Institutions
(HEIs)?

A. Curricular and co-curricular aspects

B. Teaching-learning and Evaluation

C. Instructional and Learning Resources

D. Student support and progression

E. Institutional values and Best practices

Choose the correct answer from the options given below:

1. A B and C only
2.B, D and E only
3.C, Dand E only
4.B, Cand D only

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45345] Question Description : dwbv_pg_edu_eng_2_q61
2[Option ID=45346]

3[Option ID=45347]
4[Option ID=45348]

Sl. No.62
QBID:9062

Which of the following are related to the scientific management approach ?
A.  E Mayo

B. F.W.Taylor

C.  D.E Griffiths

D. L D.Brandies

E.  C.L Bernard

Choose the correct answer from the options given below:

1. A and C only
2.D and E only
3.B and C only
4.B and D only

1)1
(2) 2
(3) 3
(4) 4
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1. ®aa A 3R C
2.%ad D 3R E

3. HaaB AR C
4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45349] Question Description : dwbv_pg_edu_eng_2_q62
2[Option ID=45350]

3[Option ID=45351]
4[Option ID=45352]

Sl. No.63
QBID:9063

National development as a core value within the Accreditation Framework of NAAC for universities includes which of the
following:

A. Ensuring equity

B. Institutionalizing peace

C. Increasing access

D. Serving the cause of social justice

E. Consolidating truth

Choose the correct answer from the options given below:

1.B, D and E only
2. A, Cand E only
3.A Cand D only
4.B, Cand D only

1) 1
(2) 2
3) 3
4) 4
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1.®ad B, D AR E
2.HaAA, CHRE
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4.%dd B, C AR D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45353] Question Description : dwbv_pg_edu_eng_2_q63
2[Option ID=45354]

3[Option ID=45355]
4[Option ID=45356]

Sl. No.64
QBID:9064

The SSA document must incorporate the educational experience of
A. Older PWD's

B. The teacher fraternity

C. Voluntary organisations

D. Educationists

E. Leaders

Choose the correct answer from the options given below:

1.A C DandEonly
2.A B, Cand D only
3.A B, D and E only
4.B,C, D and Eonly

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
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1[Option ID=45357] Question Description : dwbv_pg_edu_eng_2_q64
2[Option ID=45358]

3[Option ID=45359]
4[Option ID=45360]

Sl. No.65
QBID:9065

Students with dyscalculia face difficulty in the following:
A. Problems related to number graphs

B. Numbers dealing

C. Numbers placing

D. Problems related to spatial concept

E. Problems related to reading numbers

Choose the correct answer from the options given below:

1. A Cand D only
2.B, Cand D only
3.A Dand E only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4




TSxpepicrd ard 8 &l FafdRad | ¥ i Sf3A1sal & - &A1 usdl 6 2
A. T@= & @l (%) ¥ Gafdd g9
B. T3l T o0deR
C. Gl & & Ay
D. ®T-& YdeaT ¥ Yaftd g9
£, GET3 & Yo dafid 99w
i feu 7 fadhedi H U Ugl IR 94 -
1.®WadA, C3MRD
2. %ad B, C 3R D
3. HadA D IRE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45361] Question Description : dwbv_pg_edu_eng_2_q65
2[Option ID=45362]

3[Option ID=45363]
4[Option ID=45364]

Sl. No.66
QBID:9066

Match List | with List 11

List | List Il

A. Agnosticism l. Conclusions as to the goodness or evil of existence cannot be made final

B. Rationalism Il. The highest good is pleasure

C. Meliorism lIl. The position that conclusive knowledge of ultimate reality is an impossibility
D. Hedonism IV. The position that reason is the chief source of knowledge.

Choose the correct answer from the options given below:

TA-ILE-1L,C-1,D-1V
ZA-NLB-IV,C-1,D-1
A-LE-NILC-1,D-1V
4 A-IV,B-1ILC-1,D-1

1) 1
(2) 2
3) 3
(4) 4




A |, i B SBT3 91 G5 & €U H [y
sFmaG  |ifoH ¥ U 4 T8 [Hed of 9%d &

B-? . Tdte arTd A A 2

C. 1. T Rfd i ued gure &1 9R 949 U@
SIOAG SR B

D. gEale |Iv. Ug [l e ab 99 ST = did ¢
< feu e fadent o 9 981 I 9T

T.A-ILB-L,C-1,D-1V
2ZA-NLE-IV,C-1L,D-1l
.A-LB-N,C-ILD-1V
4.48-V,B-NL,C-1,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=45365] Question Description : dwbv_pg_edu_eng_2_q66
2[Option ID=45366]
3[Option ID=45367]
4[Option ID=45368]

Sl. No.67
QBID:9067

Match List | with List 11

List | List Il

A. Justice Verma Commission |I. Education for National development

B. Mudaliar Commission Il. Vision of teacher education in India: Quality and Regulatory perspective
C. Yashpal Committee l1l. Secondary Education Commission

D. Kothari Commission IV. Reviving higher education system

V. Learning without burden

Choose the correct answer from the options given below:

T.A-V,B-LC-I,D-1IV
ZA-ILB-NI,C-V,D-I
A-IW,B-ILC-1IL,D-I
4A-LBE-V.C-V.D-1l

1)
(2)
(3)
(4)

A W N R




-l -1l
’;ﬁ = . AT fapra B fan

B.HEaR |1l ¥R H IUa Ud Hamd giveg O
T Rierm R & @

;Fﬁﬁru 111, AT fEe I8 ST

;ﬁﬂa E Iv. I3 TR1&T Tt 1 FHIeT B

V. ST & (& Sift
i feu e fadedl § 9 9al IR 90

TA-V,BE-LC-I,D-1IV
2ZA-ILB-NL,C-V,D-1
3A-IV,B-ILC-1LD-I
4A-LB-IV.C-V,D-1

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45369] Question Description : dwbv_pg_edu_eng_2_q67
2[Option ID=45370]

3[Option ID=45371]
4[Option ID=45372]

Sl. No.68
QBID:9068

Match List | with List Il

List 1 List 11
A. Rational-Emotive therapy . Very Directive
B. Rational therapists Il. Learning Process

C. Behavior counselling techniquellll. Albert Ellis

D. Behavior Therapists IV. Wolpe and Kumboltz

Choose the correct answer from the options given below:

T.A-ILB-1L,C-1,D-1V
2ZA-IV,B-ILC-1,D-1
3.A-LB-IV,C-IL,D-1I
4A-NLB-1L,C-IV,D-1

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l g -1l

A. THET Hde® IUdR 1. e FdEm

B. T Td A oad I1. AT Tfsmar

C. TdeR WAl da-id Ii1. Teae Ul

D. aeR fafdds Iv. 3ied 3R GHaleed
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-1LC-U,D-1V
2ZA-IV,B-ILC-1,D-1
3A-LBE-IV,C-1I,D-1I
4A-NLB-1,C-IV,D-1

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=45373]
2[Option ID=45374]

3[Option ID=45375]
4[Option ID=45376]

Question Description : dwbv_pg_edu_eng_2_q68

Sl. No.69
QBID:9069

Match List | with List Il

List | List Il

A. DPEP . Elementary Education

B. S5A Il. School and Teacher Education
C. RMSA [II. Primary Education

D. SAMAGRA IV. Secondary Education

Choose the correct answer from the options given below:

TA-LB-NIILC-IV,D-1
2ZA-IV,B-I.C-1I,D-1I
A-NLB-1L,C-IV,D-1
4A-LEBE-N,C-1,D-1V

1) 1
(2) 2
(3) 3
(4) 4




-l -1l
AW 1. URTHa fR1am

B.UUTUT I1. faemerg ud s e
C.HRTHATYT 1. Tyt f=Ram

D. §HY IV, HTEES A

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-LE-NIILC-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-L,C-IV,D-1
4AA-LB-IL,C-1,D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45377] Question Description : dwbv_pg_edu_eng_2_q69
2[Option ID=45378]

3[Option ID=45379]
4[Option ID=45380]

Sl. No.70
QBID:9070

Match List | with List Il

List | ; Educational ) .
List I : Curriculum Focus

Philosophy
A. Perennialism |. Classical subjects, literary analysis, constant curriculum
B. Essentialism Il. Based on students’ interest, human problems and affairs, interdisciplinary subject matter

lIl. Emphasis on social sciences, examination of social, economic and political problems focus

C. Progressivism
on present and future

D. Reconstructionism I\VV. Essential skills and essential subjects

Choose the correct answer from the options given below:

TA-IMB-LC-I,D-1
ZA-IL,B-IV,C-1II,D-1
3.A-LE-IV,C-1I,D-1I
4A-LB-IV.C-1II,D-1

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

S;l:ﬁf\w Tt -1 UTeTeT BT $E
A WG | IR 9y, Oiefde Gxou, &R greaggf
I1. BT @1 B W i IHg g9 3R 9,
8. dfadaE | e YT T
111, G AT W) AR, g, e iR
C. Wifgarg oTa, JHEmS B Oda, TaaH 3R Hiaw W)
Hiod
DYRTAMG |1V, HITRGD DI R HGD (a9

o o G et § 9 w9 SR AT

TA-MB-LC-NI,D-1
2ZA-ILB-NM,C-1II,D-1
A-LB-IV.C-1I,D-1I
4.4-1LB-IV,C-1I,LD-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=45381]
2[Option ID=45382]

3[Option ID=45383]
4[Option ID=45384]

Question

Description : dwbv_pg_edu_eng_2_q70

Sl. No.71
QBID:9071

Match List | with List II

List | : Threat to Internal validity

List Il : Situation/ Explanation

A. Maturation

I. The emotional tirade of a teacher

B. History

II. Volunteers in experimental group

C. Testing

lll. Subjects become tired

D. Selection bias

IV. Effect on pre test of proficiency in subsequent tests

Choose the correct answer from the options given below:

TA-LE-NIILC-IV,D-1
2ZA-IV,B-IL,C-1,D-1
A-ILB-L,C-IV,D-1
4458-1LB-1L,C-1L,D-IV

(1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

gi%rl aw{qﬁuﬁﬂ%m@m
A, TROgEar |. U T27&/® B HIa-THD Hal
B. 3fas™ II. WIS g o wWiasd ol
C. Tliam 1. fenfifat & w@m

V. STacH oRiaT H gara IR gd
0. T AT TRE0T BT THTT
= feu e fadent # 9 98 IR 9T

T.A-LB-IL,C-IV,D-1
22A-IW,B-1I,C-1,D-1I
A-NLB-1L,C-IV,D-1
4. 4-1LB-1,C-1L,D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=45385] Question Description : dwbv_pg_edu_eng_2_q71
2[Option ID=45386]
3[Option ID=45387]
4[Option ID=45388]

Sl. No.72
QBID:9072

Match List | with List [l

List | List Il

A. Placement Assessment |l. Taking a unit test at the end

B. Formative Assessment |Il. Taking a pre-test before class

C. Diagnostic Assessment |lll. Asking questions in between the classroom teaching

D. Summative Assessment|IV. Identifying issues with a particular skill

Choose the correct answer from the options given below:

TA-LB-N,C-ILD-1IV
2ZA-1LB-N,C-1V,D-I
3A-NLB-1L,C-1L,D-1V
4.48-IV,B-1I,C-1I,D-1

1)
(2)
(3)
(4)

A W N =




Tt -1 B gt -1 o gafed S

gl -l = -1l
A, RO 3fida |1, 30 5 Uh ZaTs-Uiam ol
8. WD -

. Il D& ¥ Ud Uds Jd-UREUT o1
C. gId .

. 1. T&T-FRI&0r & da H 0y g
D. JHfdd \v. TP iy SIRa & 91d qel @1
Hiwe g BT
= feu e fadwent § 9 8l IR 9T

T.A-LE-NIILC-1,D-1V
2ZA-ILB-NL,C-IV,D-1
A-INLB-IL,C-1L,D-IV
4A-IV,B-ILC-NI,D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=45389]
2[Option ID=45390]

3[Option ID=45391]
4[Option ID=45392]

Question Description : dwbv_pg_edu_eng_2_q72

Sl. No.73
QBID:9073

Match List | with List Il

List | : Educational Technology|List Il : Tocl

A. Visual print . Television

B. Visual non-projected 3D

Il. Tele conferencing

C. Audio-visual projected

ll. Globe

D. Multi sensory package

V. News paper

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
ZA-NLB-IV,C-1I,D-1
A-ILBE-1LC-I,D-1V
4AA-LB-II,C-IV,D-1

(1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l -1l

A T OE I, SeiifdeH

o, Bremart smféd =g II. SE-DIH AT
C. gaiftd e=xa-ge RSIC]

D. §g-Hdcl Gl V. GIER-TA
Jr= feu e fadent § 9 98l IR g

TA-IW,B-IILC-1,D-1
2ZA-NLB-IV,C-1I,D-1
A-ILB-1L,C-I,D-1V
4A-LB-IILC-IV,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45393] Question Description : dwbv_pg_edu_eng_2_q73
2[Option ID=45394]

3[Option ID=45395]
4[Option ID=45396]

Sl. No.74
QBID:9074

Match List | with List Il

List | : Leadership style |List Il : Leadership behaviour

A. Developer . Delegation of responsibility with firm accountability

B. Benevolent Autocratic|ll. Respecting collective commitment and team efforts

C. Bureaucratic lIl. Expressing professional concern for subordinates

D. Executive IV. Adherence to rules and procedures

Choose the correct answer from the options given below:

TA-LB-IILC-1,D-1V
2ZA-NILB-1L,C-IV,D-1I
A-VEB-U,C-1,D-
4A-1ILB-1LC-U,D-1V

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

G -1 g 2efl T -1 : g R
A faea@dl @daw) |.€a? T o T Saeaiidied Pt

B. Q[HId® Wb (G-dlcie
Hierhie®)

II. GTfE® daaGal HR elal & warEl
T ST DA

C. AIHRRE! (FRIhieD)

i1, == & o0 AEais WaRl &
HYeged BT

D. PRBRI (TelHfeq)

v, fraat SR g gl & ura &

9 e e et # @ w8 SR AT

TA-LB-NIILC-1,D-1V
2ZA-1LB-1L,C-IV,D-1
JA-IV,B-IILC-1,D-1
4A-1ILB-1L,C-U,D-1V

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=45397] Question Description : dwbv_pg_edu_eng_2_q74

2[Option ID=45398]
3[Option ID=45399]
4[Option ID=45400]

Sl. No.75
QBID:9075

Match List | with List 11

List | : Disabilities |List || : Affected abilities

A. Sensory I. Talented

B. Intellectual Il. Dyslexia

C. Developmental|lll. Cerebral Palsy

D. Learning IV. Autism

Choose the correct answer from the options given below:

TA-ILE-IILC-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-L,C-IV,D-1
4AA-LB-IL,C-1,D-IV

1) 1
(2) 2
(3) 3
4) 4




Tt -1 B gt -1 o gAfed st

Ot -1 Fmedar [gE - waiiad aand
A Hadl RIGLR IR

B. dila® II. T&=-2H&Td

c. fqpmE® III. JHRTSD SRTITd

D. fETH V. Sl

i feu e fadenl # 9§ 9gl 3w gHU :

TA-ILE-IILC-IV,D-1
2ZA-IV,B-1,C-1,D-1I
3A-ILB-L,C-IV,D-1
4AA-LB-IL,C-1,D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45401] Question Description : dwbv_pg_edu_eng_2_q75
2[Option ID=45402]

3[Option ID=45403]
4[Option ID=45404]

Sl. No.76
QBID:9076

The first five among seven kinds of conditional judgement (sapta bhanginaya) are:
A. Some how S is P (Syat asti)

B. Some how S is not P (Syat nasti)

C. Some how S is P and is also not P (Syat asti cha, nasti cha)

D. Some how S is P and is also indescribable (Syat asti cha, avaktavyan cha)

E. Some how S is describable (Syat avaktavyam)

Choose the correct answer from the options given below:

1T.A B ECD
2ABCED
3.AEBCD
4. A B D CE

(1)1
(2) 2
(3) 3
(4) 4




I+ & Ad YR H S JUH U PR DA U g 2
A. Tl o T, (W f) B
B. Tl iRE va, 0 e (<ard ) B
c. fodt g g, Ui g Wt iR =87 i (= snfia 9, 91 9) 81
D. [d @E ug, U 3 3R sifFda-ig (@ e 9, s@edaq 9) & |
£, Tl T8 O M= (R1d Sfaaded) B
i< f&T 70 fadedi # 9 981 ST I -
1.A,B,ECD
2.AB,CED

3.AEBCD
4.4 B, D CE

1)
(2)
(3)
(4)

A W N R

1[Option ID=45405] Question Description : dwbv_pg_edu_eng_2_q76
2[Option ID=45406]
3[Option ID=45407]
4[Option ID=45408]

Sl. No.77
QBID:9077

Arrange the following into the sequence for policy formulation
A. Need assessment according to objectives

B. Target setting based on trend projection

C. Finalisation of themes and target areas

D. Determination of national objectives

E. Preparation of publication

Choose the correct answer from the options given below:

1.A DB CE
2ZADCEB
3.0,ACBE
4D, C A EB

(1)
(2)
(3)
(4)

A W N R




it wfdureH gq HufRad &1 sieH o oualud sife
A. ISR @ SHR HaRIDHA b
B. Ty H&Tur W 3R wea Fafo
c. fawz vd qem &=t &1 sifem Fu G
D. XT¥1Y =l @1 FeiRun
E. YT @1 dgiRi
=< feu 7Tu fadedl 5 9 981 SR 9 -
1.A,D,B,CE
2.AD,CEB

3.D.ACBE
4.D,C A EB

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45409] Question Description : dwbv_pg_edu_eng_2_q77
2[Option ID=45410]
3[Option ID=45411]
4[Option ID=45412]

Sl. No.78
QBID:9078

Arrange the following types of learning given by Gagne in hierarchical order?
A. Multiple discrimination

B. Chain learning

C. Learning of Principles

D. Learning of concepts

E. Verbal Associate learning

Choose the correct answer from the options given below:

1.B,C,ADE
2.CD B AE
3.B,EADC
4.0, C A BE

(1)
(2)
(3)
(4)

A W N R




14 gR1 QU TTT R & Fefeifad ver! @ giufe % | aaieyd Sife -
A. §g favea
B. 4 JAfeH
c. fgial &1 sifamH
D. S{YRUNS BT 3HfaH
£, Tk HIeTd ST
i< f&T 70 fadedi # 9 981 ST I -
1.B,C,A D,E
2.C,D,BAE

3.BEADC
4.D,C A BE

1)
(2)
(3)
(4)

A W N R

1[Option ID=45413] Question Description : dwbv_pg_edu_eng_2_q78
2[Option ID=45414]
3[Option ID=45415]
4[Option ID=45416]

Sl. No.79
QBID:9079

Arrange the following in a chronological order of their formation from the earliest to the latest:
AL NAAC

B. NCTE

C. UGC

D. NCERT

E. NIEPA

Choose the correct answer from the options given below:

1.D,E A B C
2.BCDEA
3.CD.EAB
4. A B CED

(1)
(2)
(3)
(4)

A W N R




FafaRad @I 3@ 7184 & YRS U a9 & DI HAMYR HaYd Hifelt -
A TAUEHL

B. T A,

C. gil.

D. . 3.3RA.

E TTAMEEUT

i feu 7 fadhedi H U Ugl IR 94 -
1.0, E A B C
2.B,C,D,E A

3.CD.EAB
4.4 B CED

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45417] Question Description : dwbv_pg_edu_eng_2_q79
2[Option ID=45418]

3[Option ID=45419]
4[Option ID=45420]

Sl. No.80
QBID:9080

Sequence the first five levels of objectives as divided by Anita Harrow for Psychomotor objectives-
A. Reflex movements

B. Physical abilities

C. Perceptual abilities

D. Skilled movements

E. Fundamental movements

Choose the correct answer from the options given below:

1.ACBED
2Z.AECBD
3.A,.CBDE
4B, CADE

1)1
(2) 2
(3) 3
(4) 4




foparere I5=al & oY a1 831 gR1 ufduiied I5=al & ugd uid TR &1 HHeEg Sl
A. Ufdad Tifd
8. Hifaie rgarg
C. Y& IR TIgarg
D. @ iErerguf Tfd
E. HIfeia i
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.A,C B ED
2.AECEBD

3.A,.CBDE
4.B,C,ADE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45421] Question Description : dwbv_pg_edu_eng_2_q80
2[Option ID=45422]

3[Option ID=45423]
4[Option ID=45424]

Sl. No.81
QBID:9081

Identify the sequence of data analysis steps in qualitative research.
A. Labelling the segments with codes

B. Data transcription

C. Collapsing codes into themes

D. Reading through data

E. Dividing text to segments

Choose the correct answer from the options given below:

1.B,D,E A C
2ZAEDCEB
3.BECEDA
4 EBACD

1)1
(2) 2
(3) 3
(4) 4




U TNy H 3fiBS] (G0Nl & TR DI HHAS DId:
A. D18/ B b 1Y Yedh| W dad Il
B. 3fidhal BT fAfydum
C. ®e @ Xd] H garigd oAl
D.HI®BST TR AR
E. UTG &1 @Us! # faHiferd &
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.B,D,EA C
2.AEDCEB

3.B.CEDA
4.EBACD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45425] Question Description : dwbv_pg_edu_eng_2_q81
2[Option ID=45426]

3[Option ID=45427]
4[Option ID=45428]

Sl. No.82
QBID:9082

According to Flander's Interaction Category System, arrange the following verbal behaviors in a sequence for its encoding
A. Lectures

B. Ask Questions

C. Gives directions

D. Accept or uses ideas of pupils

E. Praises or discourages

Choose the correct answer from the options given below:

1.B,EADC
2.D,EBAC
3.A.CBED
4. E DB A C

1)1
(2) 2
(3) 3
(4) 4




FcisH Siddehdr ol sugel & S{ER, HRiiiad Hids oIagRi & 391 dedgdl & 104 Ud HH H Tl |
A TREAH

B. 7% Tl

c. e

D. farsgt & foaRl &1 SUgiT &A1 iR e R &l

E. U1 &A1 A1 gdldligd ol
o fGu U fodheal 3 9 98 S g -
1.B,E A D, C
2.D,E B A C
3.A,CBED
4.ED,BA C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45429] Question Description : dwbv_pg_edu_eng_2_q82
2[Option ID=45430]

3[Option ID=45431]
4[Option ID=45432]

Sl. No.83
QBID:9083

Arrange the steps of the model of Instructional designing developed by Heinrich and Molenda in the correct sequence:
A. State

B. Evaluate

C. Require

D. Analyse

E. Utilize

Choose the correct answer from the options given below:

1.D,AECB
2.B,D CAE
33EBCAD
4.CADEE

1) 1
(2) 2
3) 3
(4) 4




RIS SAHB & 1R U HIAvsT gRT QT ¢ WidHH & =Rl i ¥el H H aaiyd sifey|

A, I

B. Hedi@m

C. TSl

D. fazeiyur

E. T

i< TeU 71Q fadhedl # U el IR 44 -
1.D,AECB
2.B,D,CAE

3.EBCAD
4.C A DEEB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45433] Question Description : dwbv_pg_edu_eng_2_q83
2[Option ID=45434]

3[Option ID=45435]
4[Option ID=45436]

Sl. No.84
QBID:9084

Identify the correct order from the following process through six sigma quality initiative management strategy:
A. Finding the root causes of defects in the process and to reduce such defects

B. Collecting relevant data to measure the key aspects of the current process.

C. Implementing enhancement of the current process based upon data analysis.

D. Explaining the expectations of the customer

E. Ensuring the sustainance of improvement of the current process.

Choose the correct answer from the options given below:

1.C,D,EB A
2.BEACD
3.ACDEB
4.D,B A CE

1)1
(2) 2
(3) 3
(4) 4




e [T Ui Ugd WeeH 0T & JeEd | FHaftiad ulsare & 98l oF @ UgdH S|
A. el & 9o SBRUI &1 udl T R 59 YR Sl Fiedl H &Hl a1
B. TAHM Hig a1l & T U&T & A0 @ U Wi Hi®s! ®f Thhd el
C. e sl & a9l & YR W gdaH Uihal & SaeH @i forar=ad &1
D. TED I A& DI GHIH
E. GAM WibaTsH ® GUR &I addl gHEd S
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.C,D,E B A
2.B,EACD

3.ACDEB
4.D,B A CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45437] Question Description : dwbv_pg_edu_eng_2_q84
2[Option ID=45438]

3[Option ID=45439]
4[Option ID=45440]
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Arrange the following in ascending order according to their years

A. RPWD Act

B. Comprehensive action plan on Inclusive Education for children and youth with disabilities

C. NT Act

D. National policy for persons with disabilities

E. RCl Act
Choose the correct answer from the options given below:

1.ECBDA
2.ACBDE
3.EBCDA
4B, C D EA

1)1
(2) 2
(3) 3
(4) 4




frafeiad @1 37e 9d & SfUR RIg! HH H Faiyd Sifery|
A, AR U gy, 2. sfeiga
B. §Tc1 Ud AT faoaiTer og Ta=h e &1 srde & dierT
C. .2 it
D. XIET4 feaai o Hifa
E. AR S, afafmm
<<l feu e fasedi 5 9 98l SR 9 -
1.EC B DA
2.ACBDE

3.EBCDA
4.B,C, D EA

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45441] Question Description : dwbv_pg_edu_eng_2_q85
2[Option ID=45442]

3[Option ID=45443]
4[Option ID=45444]

Sl. No.86
QBID:9086

Given below are two statements:

Statement |: The Samkhya theory that causation means a real transformation of the material cause into effect, it logically
leads to the concept of evolution as the ultimate cause of the world of objects.

Statement II: The second type of utlimate reality admitted by the Sarhkhya is the self. The existence of the self must be
admitted by all.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

(1)1
(2) 2
(3) 3
(4) 4




FYF - | ; G2 FUGid & IR SRU-BM Y84 31 3 Hifds HRU &1 U4E 06 aRaia® Sl J g1 &, 9 Yifa® awgeaf
P TR & H BRU & ©0 5 3EH" ©1 JFUR &1 JF W2 Hdl el

FYF - 11 : TA GRIWHR a1 771 TH U BT G TSR T2U (o) 5| Tl b [oU B 3¥ia WihR Bl dligy|
Iudad dyHl & aie | FafaRad fGeddl F 9 98 3o g -

1. @Y1 AR 1 EF T 2

2. BYF 1 AR 1 G HTT

3. I AT, g d I oI § |
4. B | A B, g B 1 TA B

1)
(2)
(3)
(4)

A W N =

1[Option ID=45445] Question Description : dwbv_pg_edu_eng_2_q86
2[Option ID=45446]
3[Option ID=45447]
4[Option ID=45448]

Sl. No.87
QBID:9087

Given below are two statements:

Statement I: Teacher education is a continuous process, and its pre-service and in-service components are inseparable.
Statement II: In-service teacher education should take due care of future needs of the teacher's growth.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

EIEHERC I E
BYA - | : AHAUD (&1 TP Tdd Wikl g, 3R 39 Yal-Ud Ud YaidbleiH ged HaHd g
FY - 1| : YADTTHI HAUSD & DT HAUD! b (GBI B HIdl ATTZDAI B fdd c@HI BT BT
Il HYA B 1SS H Fieiad [ecedl # 9 98l Sw 9 -
1. ®YF | SR 11 GHI 9 g
2. @Y | R 1| G SEA B

3. @Y 1 9 7, fog du 1| 3T § |
4. BT 3TA T, B BUT 1 TR

1)
(2)
(3)
(4)

A W N R




1[Option ID=45449] Question Description : dwbv_pg_edu_eng_2_q87
2[Option ID=45450]
3[Option ID=45451]
4[Option ID=45452]
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Given below are two statements:
Statement I: At the beginning of curriculum development, the very concept of the programme must be evaluated.

Statement II: Cognitive models of teaching can assist teachers in shaping their instructional approaches and evaluating
students’ learning.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4

EICEAKIC A A
FYA - | : TTSIT-[ahY & URY T, SHH B Ybeddl I Hlid- Hag [Ha1 IH1 Tt

FYUT - 11 : HIGHD BBV SR THET o SHUTH b Hedid Bl SBR - H RIEU & SIS WiaAH gl &1 Herddl
TR D ol

U BYAl & e F FafaRad G § 9 98 Iwm g -
1. YT AR I THI G &
2. YT 1 3R 11 GHT T &

3. @Y 1 qA 7, fog du 1| 3§ |
4. % | A8, HgFH 1 TA B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45453] Question Description : dwbv_pg_edu_eng_2_q88
2[Option ID=45454]

3[Option ID=45455]
4[Option ID=45456]

Sl. No.89
QBID:9089




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Using feedback mechanism on teachers' performance is essential for their improvement.

Reason (R): Students are the best source for feedback on teachers' performance in the classroom.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R} is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4, (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
4) 4

TR FERUTE: 1@ o1 HHY (A) R TR &I a6 (R) FeT T2

HTUFYA (A) : &l & I & URTHI & (oY UIAYfP oF BT IURT BT TP ¢ |
P (R) : BETH A0S & FuIIeT & S9y § Ufaufy & gdiad 9id 36 gid ¢

JUldd Sl & HITld | FHifdsd [deedl H 4 9el Sk g -

1. (A) 3R (R) TFI W81 & A (R), (A) T Tel ARAT B |
2. (A) 3R R Eﬁ?ﬁﬂﬁ%ﬂ?ﬁ )ﬂﬁﬂﬁw@ﬂ:ﬁﬂ%l
3. (A) W61 8 IR R}*ﬂﬁﬂ’aﬂ%l
4. (A) 98I 181 § IR (R) W1 &
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=45457] Question Description : dwbv_pg_edu_eng_2_q89
2[Option ID=45458]
3[Option ID=45459]
4[Option ID=45460]

Sl. No.90
QBID:9090

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Threats exist outside of the organisation and are beyond its control.

Reason (R): Correcting weaknesses of the organisation can reduce the impact of threat on it.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A&).

2. Both (A) and (R) are correct and (R} is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
) 2
3) 3




(4) 4

A Sl B RUTU R : To @ S (4) 3R GWR @1 0 (R) De1 T B

HFUBYT (A) : TG P 916X Gax AING Bld & AR I9d 890 4 WEd 8|

TH (R) : TT167 & HHART Bi 31 P I 39 R TRl  THE BT HH 601 &1 FHal &
Iuddd YAl & Hldld | FHifdd [dbedl # 4 el 9 9 -

(A) R (R) T W& § R (R), (A) P U6 ARG
(A) 3R (R) TFI F61 § TR (R), (A) P F] AT 81 6|
(A)
(A)

A) T & R (R) Tl el §
A) HEl 981 8 U3g (R) WE1 &

1.
2.
3.
4.

1[Option ID=45461] Question Description : dwbv_pg_edu_eng_2_q90
2[Option ID=45462]
3[Option ID=45463]
4[Option ID=45464]
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QBID:9091




Read the passage and answer the questions based on it

Mahatma Gandhi said : Education is "the basic tool for development of consciousness and reconstruction of society”. The
Universal Declaration of Human rights, 1948 (UDHR) states: “Everyone has the right to education. Education shall be free,
atleast in the elementary and fundamental stages. Elementary education shall be compulsory.

"This was said prior to the labeling of the current 215 century as the century of knowledge; and before the level of education
in the community was recognised as an index of human development. The Constitution of India, recognizing this aspect
enacted initially the Directive Principles of State Policy in Article 45 to achieve the goal of free and compulsory education
upto the age of fourteen within ten years, but the task remaining unfulfilled for over half a century, the fundamental right in
Article 21A has been inserted as amendment to reinforce its importance along with corresponding amendments in Article 45
and 5TA.

Teacher is the medium to achieve this goal. Hence, the quality of teacher education to provide quality teachers is an
important component for the success of this programme. The report of the Education Commission states:” The destiny of
India is now being shaped in her classrooms. This, we believe is no more a rhetoric.” The key player in the process is the
teacher. Mahatma Gandhi said, "I have always felt that the true text book for the pupil is the teacher”. A true teacher is a role
model who triggers the thought process of his students to realize their true potential. He teaches by ‘practice’ and not
merely by "precept”.

FafafEs i $ wryde 13 T usl 1 39 39 AUR W T

HRIHET TielT H BT U7 : F&N A1 & [dBr 3R G DI D] & (o8 Jayd UGl ¢ | HHd USRI T GidHH "iyoy Uz,
1948 (4 21 UB HR) Faldl & fob *5X oafdd i e &1 HIPR g1 P ¥ BF URfHS R URYd TRI W a1 o1 e g
A1Mey| URTHE fRiam sfard g =gy ... -

Tg 3P I9dl sl DI 4 B Wdleal 1AM &4 U 3R THa™ H &1 31 7Hd G0 & a6 & ©U J 7« - 9 Uga,
@l 71 U1l 38 Ugq &l -1 &d §Y, HRd & HiadH 9 3ff=dg 45 H, URMHP ¥4 ¥, I i Hifd & Hifd-Féze fgid 4
&Y gyl ¥ dicg gy dd &I g & ol F:3[em iR si-ard g 3uds &H & d&d &I HAFaiid faan dfd- snedt wdrsdl ¥
e T & I R oft 98 960 O el 31 81 39% e W §d o & (oY U Sfay Yeied & grT o= 21-A H fam
DI TP Hifcis ISR & €U H /M G0 T 596 919 81, 599 Yafid e s 45 3R 51-4 7 4 fig o)

34 &0 Bl WK B3 & oY i U T g1 Ui 39 SHH B Yhadl & oY TuEs dard e 3uds &3H § e
@1 & B T[UIa1 U Hea U 3dgd & | &M e &1 Uidded Hedl g i - “HRd BT 4 IB! Baflel d 81 AR T80 BT
81 5, BRI [ay14 § & U a1d 3i@ bad VealeaR ol a1l” 39 Ulshal H R1aid w7 ddl g1 Hele el = dal ol : "H- gHE
T8 H3Hd [l & I 813 &1 Uedl Ui g [216id Wl eldl 61" Ud Yl [RI&® Uh SA1GR gidl & ol S0 STl & Fad YHTe Bl
HH T @ oY I fefa= uishan @1 U a1 81 98 daa Mo &7 9 781, 314019 § Ugal 8|

While making education as a fundamental right, which among the following articles of the Constitution of India was not
amended/inserted?

1. Article 15
2. Article 21A
3. Article 45
4. Article 51A

1) 1
(2) 2
3) 3
(4) 4




e @l Aifdid SR a-1d THY HRd & diduH & HafdRad siwdal 4 4 fod @f w=iifea, afFfad 281 faar ar -

1. A5G 15
2. ATDE 21-A
3. HIWG 45
4. ATWE 51-A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45465] Question Description : dwbv_pg_edu_eng_2_q91
2[Option ID=45466]

3[Option ID=45467]
4[Option ID=45468]

Sl. No.92
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Read the passage and answer the questions based on it

Mahatma Gandhi said : Education is "the basic tool for development of consciousness and reconstruction of society”. The
Universal Declaration of Human rights, 1948 (UDHR) states: "Everyone has the right to education. Education shall be free,
atleast in the elementary and fundamental stages. Elementary education shall be compulsory.

"This was said prior to the labeling of the current 215 century as the century of knowledge; and before the level of education
in the community was recognised as an index of human development. The Constitution of India, recognizing this aspect
enacted initially the Directive Principles of State Policy in Article 45 to achieve the goal of free and compulsory education
upto the age of fourteen within ten years, but the task remaining unfulfilled for over half a century, the fundamental right in
Article 21A has been inserted as amendment to reinforce its importance along with corresponding amendments in Article 45
and 51A.

Teacher is the medium to achieve this goal. Hence, the quality of teacher education to provide quality teachers is an
important component for the success of this programme. The report of the Education Commission states:” The destiny of
India is now being shaped in her classrooms. This, we believe is no more a rhetoric.” The key player in the process is the
teacher. Mahatma Gandhi said, "I have always felt that the true text book for the pupil is the teacher”. A true teacher is a role
model who triggers the thought process of his students to realize their true potential. He teaches by ‘practice’ and not
merely by "precept”.

FafafEs T wHyde 13 T uet #1398 3% YR W I

HEIA] il A Bel o7 : & a1 & B SR 6 @1 GHRaH] & U JaHd SRl 81 HiFa HUBRI &1 GaHIH uiyor 7,
1948 (T 31 TP HR) T & [ T Afad @I 12047 B AHUDR g1 $H § HH IRMHS AR HURH TR R &1 o A3 g
afRY | URfhe Rran sfard g =ifge ... -

g gaoiudl dlssl @I JH @1 Wdleal b A1H ¢ H 3R THE™ H g &I 714 a1 & gad o *U H J=gal fFeH ¥ ugd,
@gl 71 U1l 38 Ugq @l -G &d BT HRd & HiauH 9 3fedq 45 H, URMHS &0 ¥, I & Hifd & Hifd-Méze fgid 9
&4 aul H dige 94 dd ol 1Y & e (F:3[em AR HHard Rian Sude aXH & aed &I AUHEHd fean e end wasd 9
Hftrw T did oTF &R+ 9% 789 O el gofl 1 $9% Hed U 99 o & oY Uk S YR & §RI1 s 21-A § fR1am
DI TH Hifce YR & €U 5 | G0 T 596 919 8], 399 Yafid T ofwia 45 3R 51-a4 7 1ff fg o)

U &0 Bl W B o (oY (28 U A1 g1 3ol 39 SHH B Yhadl & fo1d ua dld [R1&d Iuas & H Riad
@ et &1 T[oTaT U Hgeaqul 1qdd g | e SaiT &1 uidded wedl § & - 4Rd & 41 Iua! daiel H g AdR T80 oY
el &, BARI 3419 & & 98 91 of $a TeaSwR e Te11* T8 Wieha1 & e g@y adll &1 Hg1e e = @gt o1 : 5 7o
TE va e & 5 O 31 U=l ey we e W B §1° U6 Tl RIEw U 16 g1l & S 30 BTl & Tl WHTeT BT
IO @ & [T 3@ fda- Wi &1 Ud @Xdl 6| 98 dad Yo &7 9§ e, 33019 ¥ Ugrdl &




The passage is focusing on establishing the importance of:

1. Schooling

2. University education
3. Teacher

4. Curriculum

1)
(2)
(3)
(4)

T T fhad ! Hel ™Iid ©31 IR &F $i5d PR IET 8 ?
R CEIGRIREL]
2. fayfaeger fRen

3. e
4. UTaa=]

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=45469] Question Description : dwbv_pg_edu_eng_2_q92
2[Option ID=45470]
3[Option ID=45471]
4[Option ID=45472]
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Read the passage and answer the questions based on it

Mahatma Gandhi said : Education is "the basic tool for development of consciousness and reconstruction of society”. The
Universal Declaration of Human rights, 1948 (UDHR) states: “Everyone has the right to education. Education shall be free,
atleast in the elementary and fundamental stages. Elementary education shall be compulsory.

"This was said prior to the labeling of the current 215 century as the century of knowledge; and before the level of education
in the community was recognised as an index of human development. The Constitution of India, recognizing this aspect
enacted initially the Directive Principles of State Policy in Article 45 to achieve the goal of free and compulsory education
upto the age of fourteen within ten years, but the task remaining unfulfilled for over half a century, the fundamental right in
Article 21A has been inserted as amendment to reinforce its importance along with corresponding amendments in Article 45
and 5TA.

Teacher is the medium to achieve this goal. Hence, the quality of teacher education to provide quality teachers is an
important component for the success of this programme. The report of the Education Commission states:” The destiny of
India is now being shaped in her classrooms. This, we believe is no more a rhetoric.” The key player in the process is the
teacher. Mahatma Gandhi said, "I have always felt that the true text book for the pupil is the teacher”. A true teacher is a role
model who triggers the thought process of his students to realize their true potential. He teaches by ‘practice’ and not
merely by "precept”.

FafafEs T  wryde 12 Td usl 31 39 39 YR W I

HEIHET 17elT 5 Bl U7 : F& A1 & [dBr 3R GHIS DI g & (o0 Jayd UGl g1 HHd USRI BT GidHH "iyoy uz,
1948 (4 31 UB HR) Faldl & fob 52 oafdd 1 e &1 HUPR g1 P ¥ BH URfHS R AURYd TRI W a1 o1 e g
A1Mey| URTHE fRiam sfard g =gy ... -

Tg 3P I9dl sl DI 4 B Wdleal 1AM &4 U 3R THa™ H &1 31 7Hd G0 & a6 & ©U J 7« - 9 Uga,
@l 71 U1l 38 Ugq &l -1 &d §Y, HRd & HiadH 9 3ff=dg 45 H, URMHS ¥4 ¥, I i Hifd & Hifd-Féze fgid 9
&4 9yl H dicg gy dd &I 1Y & ol F:3[em iR si-ard g 3uds &H & d&d &I HAFaiid fean dfd sndt wdrsdl ¥
Hfere T & 9 R oft 98 Fe0 9 18T 31 21 39% Hed W 99 & & (oY U Sfay Yeied & grT e 21-A H fam
DI TH HifcTs ISR & €U H ™M G0 T 596 919 g1, 399 Yafid e ofws 45 3R 51-A 7 4 fig o)

39 780 Bl W B3 & oY i U e g1 U 39 SHH Bl Yhadl & fo1d uas dard e 3uds - F Riad
@1 X141 B T[UIa1 U Hea U 3dgd & | &M S1an &1 Uidded Hedl ¢ o - “HRd BT 4 I Balel d 81 AR T80 B
81 5, B4R [ay14 § & U a1d 3i@ bdd Vealea ol all” 39 Ulhal H R1aid @7 ddl g1 HeTe el = dal ol : "H- gHE
I8 H3Hd a1 ¢ I BT &1 Uodl Ul Ui [216id 4 Bidl 61" Ud Wl [RI&d U HIGRI gidl & ol S0 BTl & Fad WHT &1
o @ & [T 31 fda- wishar &1 Ud @edl g1 98 dad yfdod &7 9 a1, 319 ¥ gl &

In which of the following, the demand for free and compulsory education was made at the first?

1. The Right to Education Act

2. Report of the Education Commission

3. The Directive Principles of the State Policy
4. The Universal Declaration of Human Rights

(1) 1
() 2
3) 3
4) 4




Fafafad o @ faod, aed ugd, [Re® 3R i ar fen & 0 &t 13 0 2

1. TR1&7T &1 SHUBR HiggH

2. e amar &1 wfades

3. g @) AIg & Aa-Fe® [aid
4. 914 DRI &1 a4 grgong=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45473] Question Description : dwbv_pg_edu_eng_2_q93
2[Option ID=45474]

3[Option ID=45475]
4[Option ID=45476]
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Read the passage and answer the questions based on it

Mahatma Gandhi said : Education is "the basic tool for development of consciousness and reconstruction of society”. The
Universal Declaration of Human rights, 1948 (UDHR) states: "Everyone has the right to education. Education shall be free,
atleast in the elementary and fundamental stages. Elementary education shall be compulsory.

"This was said prior to the labeling of the current 215 century as the century of knowledge; and before the level of education
in the community was recognised as an index of human development. The Constitution of India, recognizing this aspect
enacted initially the Directive Principles of State Policy in Article 45 to achieve the goal of free and compulsory education
upto the age of fourteen within ten years, but the task remaining unfulfilled for over half a century, the fundamental right in
Article 21A has been inserted as amendment to reinforce its importance along with corresponding amendments in Article 45
and 51A.

Teacher is the medium to achieve this goal. Hence, the quality of teacher education to provide quality teachers is an
important component for the success of this programme. The report of the Education Commission states:” The destiny of
India is now being shaped in her classrooms. This, we believe is no more a rhetoric.” The key player in the process is the
teacher. Mahatma Gandhi said, "I have always felt that the true text book for the pupil is the teacher”. A true teacher is a role
model who triggers the thought process of his students to realize their true potential. He teaches by ‘practice’ and not
merely by "precept”.

FafafEs T wHyde 13 T uet #1398 3% YR W I

HEIA] il A Bel o7 : & a1 & B SR 6 @1 GHRaH] & U JaHd SRl 81 HiFa HUBRI &1 GaHIH uiyor 7,
1948 (T 31 TP HR) T & [ T Afad @I 12047 B AHUDR g1 $H § HH IRMHS AR HURH TR R &1 o A3 g
afRY | URfhe Rran sfard g =ifge ... -

g gaoiudl dlssl @I JH @1 Wdleal b A1H ¢ H 3R THE™ H g &I 714 a1 & gad o *U H J=gal fFeH ¥ ugd,
@gl 71 U1l 38 Ugq @l -G &d BT HRd & HiauH 9 3fedq 45 H, URMHS &0 ¥, I & Hifd & Hifd-Méze fgid 9
&4 aul H dige 94 dd ol 1Y & e (F:3[em AR HHard Rian Sude aXH & aed &I AUHEHd fean e end wasd 9
Hftrw T did oTF &R+ 9% 789 O el gofl 1 $9% Hed U 99 o & oY Uk S YR & §RI1 s 21-A § fR1am
DI TH Hifce YR & €U 5 | G0 T 596 919 8], 399 Yafid T ofwia 45 3R 51-a4 7 1ff fg o)

U &0 Bl W B o (oY (28 U A1 g1 3ol 39 SHH B Yhadl & fo1d ua dld [R1&d Iuas & H Riad
@ et &1 T[oTaT U Hgeaqul 1qdd g | e SaiT &1 uidded wedl § & - 4Rd & 41 Iua! daiel H g AdR T80 oY
el &, BARI 3419 & & 98 91 of $a TeaSwR e Te11* T8 Wieha1 & e g@y adll &1 Hg1e e = @gt o1 : 5 7o
TE va e & 5 O 31 U=l ey we e W B §1° U6 Tl RIEw U 16 g1l & S 30 BTl & Tl WHTeT BT
IO @ & [T 3@ fda- Wi &1 Ud @Xdl 6| 98 dad Yo &7 9§ e, 33019 ¥ Ugrdl &




Which among the following statement is not true about the teacher, according to the passage?

1. Teacher educator is at the centre stage of teaching-learning process.
2. Teacher is the best source of knowledge for students

3. Teacher triggers the thought process of students

4. Practice of teaching is more important than directions.

(1) 1
() 2
3) 3
(4) 4

Td T & 3R, e & R § FffEa d Y ar-a sud omd B 2

1. Feres fareor-3ifinm ufpan & S FA W ST B
2. e B & oY 99 &1 9aad 9id gidl el

3. e ol &1 ’aq-ufea &1 Ui axar el

4. TR1&1T 1 oy, PG & ¥ e eyl 81

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45477] Question Description : dwbv_pg_edu_eng_2_q94
2[Option ID=45478]

3[Option ID=45479]
4[Option ID=45480]
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Read the passage and answer the questions based on it

Mahatma Gandhi said : Education is "the basic tool for development of consciousness and reconstruction of society”. The
Universal Declaration of Human rights, 1948 (UDHR) states: “Everyone has the right to education. Education shall be free,
atleast in the elementary and fundamental stages. Elementary education shall be compulsory.

"This was said prior to the labeling of the current 215 century as the century of knowledge; and before the level of education
in the community was recognised as an index of human development. The Constitution of India, recognizing this aspect
enacted initially the Directive Principles of State Policy in Article 45 to achieve the goal of free and compulsory education
upto the age of fourteen within ten years, but the task remaining unfulfilled for over half a century, the fundamental right in
Article 21A has been inserted as amendment to reinforce its importance along with corresponding amendments in Article 45
and 5TA.

Teacher is the medium to achieve this goal. Hence, the quality of teacher education to provide quality teachers is an
important component for the success of this programme. The report of the Education Commission states:” The destiny of
India is now being shaped in her classrooms. This, we believe is no more a rhetoric.” The key player in the process is the
teacher. Mahatma Gandhi said, "I have always felt that the true text book for the pupil is the teacher”. A true teacher is a role
model who triggers the thought process of his students to realize their true potential. He teaches by ‘practice’ and not
merely by "precept”.
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The commission referred as "Education Commission” was chaired by :

1. Sam Pitroda

2.D. S. Kothari

3. Lakshman Swami Mudaliar
4. Dr. Sarvpalli Radha Krishnan

(1) 1
) 2
3) 3
4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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Read the passage and answer the questions based on it.

Living with a disability, or a different ability is undeniably challenging. Not only are individuals with different abilities
challenged to overcome the physical trials associated with their medical conditions, but they must also persevere through
the lifelong process of reconciling their personal views of themselves with the negative perceptions and prejudices of society.
In addition to combating social stigma, the differently abled community is confronted with numerous physical barriers,
political restrictions, and a history plagued with inferior status. Fortunately, the world has progressed in its acceptance and is
continuing to improve its treatment of individuals with different abilities. Nevertheless, there is still great progress to be
made in the movement toward equality and full inclusion. Differently abled women, for example, are continuously faced with
the trial of intersectionality, the results of being both female and differently abled, which primarily includes sexual
oppression. Thus, individuals with different abilities are encouraged to be more engaged in practice of self advocacy.
Families, Friends and allies must also maintain their support of individuals with different abilities, an element that is critical to
community's success. Helping professionals, who serve the differently-abled community, are urged to educate themselves on
the adversity experienced by the community, to acknowledge how other cultural identities intersect with the differently abled
culture, and to employ strengths based theoretical paradigm that will produce the most empowering results for their clients.
Helping professionals with different abilities, furthermore, are called upon to lead the identity and civil rights movement of
the differently-abled community.
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Which of the following is not suggested by the author to the professionals dealing with people with different abilities to
educate themselves?

1. leading civil rights movement of the differently abled community.

2. Empower the persons with different abilities

3. Community Services

4. Understanding the intersection of differently-abled culture with other cultural identities

1) 1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4
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Read the passage and answer the questions based on it.

Living with a disability, or a different ability is undeniably challenging. Not only are individuals with different abilities
challenged to overcome the physical trials associated with their medical conditions, but they must also persevere through
the lifelong process of reconciling their personal views of themselves with the negative perceptions and prejudices of society.
In addition to combating social stigma, the differently abled community is confronted with numerous physical barriers,
political restrictions, and a history plagued with inferior status. Fortunately, the world has progressed in its acceptance and is
continuing to improve its treatment of individuals with different abilities. Nevertheless, there is still great progress to be
made in the movement toward equality and full inclusion. Differently abled women, for example, are continuously faced with
the trial of intersectionality, the results of being both female and differently abled, which primarily includes sexual
oppression. Thus, individuals with different abilities are encouraged to be more engaged in practice of self advocacy.
Families, Friends and allies must also maintain their support of individuals with different abilities, an element that is critical to
community's success. Helping professionals, who serve the differently-abled community, are urged to educate themselves on
the adversity experienced by the community, to acknowledge how other cultural identities intersect with the differently abled
culture, and to employ strengths based theoretical paradigm that will produce the most empowering results for their clients.
Helping professionals with different abilities, furthermore, are called upon to lead the identity and civil rights movement of
the differently-abled community.
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The author is mentioning about the psychological consequences of which of the following tasks?

1. Task of dealing with challenges related to one's medical conditions

2. Task of living with disability throughout one's life

3. Task of remaining motivated through life long process of dealing with disabilities
4. Task of reconciling the personal views and social perceptions

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2
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Read the passage and answer the questions based on it.

Living with a disability, or a different ability is undeniably challenging. Not only are individuals with different abilities
challenged to overcome the physical trials associated with their medical conditions, but they must also persevere through
the lifelong process of reconciling their personal views of themselves with the negative perceptions and prejudices of society.
In addition to combating social stigma, the differently abled community is confronted with numerous physical barriers,
political restrictions, and a history plagued with inferior status. Fortunately, the world has progressed in its acceptance and is
continuing to improve its treatment of individuals with different abilities. Nevertheless, there is still great progress to be
made in the movement toward equality and full inclusion. Differently abled women, for example, are continuously faced with
the trial of intersectionality, the results of being both female and differently abled, which primarily includes sexual
oppression. Thus, individuals with different abilities are encouraged to be more engaged in practice of self advocacy.
Families, Friends and allies must also maintain their support of individuals with different abilities, an element that is critical to
community's success. Helping professionals, who serve the differently-abled community, are urged to educate themselves on
the adversity experienced by the community, to acknowledge how other cultural identities intersect with the differently abled
culture, and to employ strengths based theoretical paradigm that will produce the most empowering results for their clients.
Helping professionals with different abilities, furthermore, are called upon to lead the identity and civil rights movement of
the differently-abled community.
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Which of the following do NOT convey the true meaning of the word "undeniable’?

1. Certain
2. Bvident
3. Obwvious
4. Refutable

1)
(2)
(3)
(4)
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Read the passage and answer the questions based on it.

Living with a disability, or a different ability is undeniably challenging. Not only are individuals with different abilities
challenged to overcome the physical trials associated with their medical conditions, but they must also persevere through
the lifelong process of reconciling their personal views of themselves with the negative perceptions and prejudices of society.
In addition to combating social stigma, the differently abled community is confronted with numerous physical barriers,
political restrictions, and a history plagued with inferior status. Fortunately, the world has progressed in its acceptance and is
continuing to improve its treatment of individuals with different abilities. Nevertheless, there is still great progress to be
made in the movement toward equality and full inclusion. Differently abled women, for example, are continuously faced with
the trial of intersectionality, the results of being both female and differently abled, which primarily includes sexual
oppression. Thus, individuals with different abilities are encouraged to be more engaged in practice of self advocacy.
Families, Friends and allies must also maintain their support of individuals with different abilities, an element that is critical to
community's success. Helping professionals, who serve the differently-abled community, are urged to educate themselves on
the adversity experienced by the community, to acknowledge how other cultural identities intersect with the differently abled
culture, and to employ strengths based theoretical paradigm that will produce the most empowering results for their clients.
Helping professionals with different abilities, furthermore, are called upon to lead the identity and civil rights movement of
the differently-abled community.
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What does being ‘persevere’ mean in the above passage?

1. Remaining motivated during difficult situations in life.

2. Making continuous efforts to achieve something which is difficult
3. Avoiding the situations that are destructive

4. Remaining indeterminant during difficult situations in life.

1) 1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the questions based on it.

Living with a disability, or a different ability is undeniably challenging. Not only are individuals with different abilities
challenged to overcome the physical trials associated with their medical conditions, but they must also persevere through
the lifelong process of reconciling their personal views of themselves with the negative perceptions and prejudices of society.
In addition to combating social stigma, the differently abled community is confronted with numerous physical barriers,
political restrictions, and a history plagued with inferior status. Fortunately, the world has progressed in its acceptance and is
continuing to improve its treatment of individuals with different abilities. Nevertheless, there is still great progress to be
made in the movement toward equality and full inclusion. Differently abled women, for example, are continuously faced with
the trial of intersectionality, the results of being both female and differently abled, which primarily includes sexual
oppression. Thus, individuals with different abilities are encouraged to be more engaged in practice of self advocacy.
Families, Friends and allies must also maintain their support of individuals with different abilities, an element that is critical to
community's success. Helping professionals, who serve the differently-abled community, are urged to educate themselves on
the adversity experienced by the community, to acknowledge how other cultural identities intersect with the differently abled
culture, and to employ strengths based theoretical paradigm that will produce the most empowering results for their clients.
Helping professionals with different abilities, furthermore, are called upon to lead the identity and civil rights movement of
the differently-abled community.
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Why does the author suggest people with different abilities to remain encouraged to engage in the practice of self-
advocacy?

1. As they are to combat social stigma.

2. As they have to deal with their disabilities throughout their lives.

3. As they need to take initiative to articulate their voices for their rights.
4. As there is little progress made towards inclusion and equality.

1)
(2)
(3)
(4)
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(1) 1

(2) 2

(3) 3

(4) 4
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